ANNUAL REPORTS

of the

TOWN OFFICERS

of

WESTMORELAND, N. H.

for the Year Ending December 31, 1958

and

SCHOOL DISTRICT OFFICERS

for the Year Ending June 30, 1958



ANNUAL REPORTS

of the

TOWN OFFICERS

of

WESTMORELAND, N. H.

for the Year Ending December 31, 1958

and

SCHOOL DISTRICT OFFICERS

for the Year Ending June 30, 1958

N 352.07 W53 1958

INDEX

	Page
List of Town Officers	3
Town Warrant	4
Minutes of the 1958 Town Meeting	8
Town Budget	22
Report of Selectmen	26
Estimated Revenues	. 27
Summary of Receipts	27
Summary of Payments	29
Detail Statement of Payments	30
Financial Report	37
Report of Town Clerk	44
Report of Tax Collector	45
Treasurer's Report	50
Report of Road Agents	52
Report of Trustees of Trust Funds	65
Report of Briggs Fund Committee	68
Report of Library Treasurer	69
Librarian's Report	71
Auditor's Report	71
Treasurer's Report of Westmoreland Village District	72
Village District Warrant	73
Village District Budget	74
School District Officers	75
School Warrant	76
School Meeting 1958	79
Report of School Board	86
School Budget	92
Report of District Treasurer	94
Report of School Nurse	95
Report of Superintendent of Schools	96
Vital Statistics	99

TOWN OFFICERS

JOHN H. TERRY, JR. Representative to General Court PAUL D. KING Moderator FENN B. NEWELL Town Clerk FENN B. NEWELL Tax Collector WILLIAM VAN V. WARREN First Selectman THEODORE H. DINKEL Second Selectman DONALD A. PAINE, Chairman Third Selectman MARJORIE A. HUDSON Treasurer GEORGE W. ALDRICH Trustee of Trust Funds MAUDE E. MESSER Trustee of Trust Funds HUGH A. SHELLEY, SR. Trustee of Trust Funds LUCY L. THOMPSON Library Trustee and Treasurer ELLEN A. HALL Library Trustee ANNA M. BRITTON Library Trustee GRACE F. COMERFORD Librarian DAVID G. ADAMS Constable EDNA M. PAINE Health Officer Supervisor of Check List MERTON C. LEACH GLADYS L. PLOOF Supervisor of Check List ANNIE M. SHELLEY Supervisor of Check List CHARLES W. MESSER Road Agent, Village District LEON E. McCLENNING Road Agent, River District EDWIN H. KING Road Agent, East and North District MARJORIE G. FARRAR Briggs Christmas Fund LUCY L. THOMPSON Briggs Christmas Fund THEODORA A. GEROULD Auditor EDNA M. PAINE Auditor PAUL R. HATT Fire Chief J. R. FREDETTE Janitor

THE STATE OF NEW HAMPSHIRE

TOWN WARRANT

To the inhabitants of the Town of Westmoreland in the County of Cheshire in said State, qualified to vote in Town Affairs:

You are hereby notified to meet at Town Hall in said Westmoreland on Tuesday, the 10th day of March, next at nine of the clock in the forenoon, to act upon the following subjects:

- 1. To choose all necessary Town Officers for the year ensuing.
- 2. To raise such sums of money as may be necessary to defray town charges for the ensuing year and make appropriations of the same
- 3. To see if the Town will vote to accept the budget as submitted by the budget committee under the authority of the municipal budget act. (This budget may be considered item by item or as a whole but may not be increased more than ten percent in any item as a whole.)
- 4. To hear the reports of agents and auditor and take any action thereto.
- 5. *To see if the Town will raise and appropriate the sum of \$475.00 as its fair share of the operating cost of the Elliot Community Hospital.
- 6. To see if the Town will vote for snow removal and sanding on either Class V or Class VI roads or take any other action relating thereto to raise and appropriate money for the same.
- 7. To see if the Town will vote for Class IV and Class V roads; construction, reconstruction or betterment aid and raise and appropriate the sum of \$704.89 which is 15%

of the State apportionment, and the State contributing \$4,699.30.

- 8. To see what sum of money the Town will vote to raise and appropriate in addition to what is required by law for highways and bridges.
- 9. To see if the Town of Westmoreland will vote to accept the sum of \$100.00 to be known as the Jessie N. Ball Joslin Trust Fund for the Lovell G. and Elizabeth Reynolds Keith lot in North Cemetery of Westmoreland, N. H., the income from same to be used for the upkeep and perpetual care of the Lovell G. and Elizabeth Reynolds Keith lot in the North Cemetery.
- *10. To see if the Town will vote to require the publishing in the Town Report each year of information concerning timber cut in the town in accordance with Chapter 79 R. S. A. Laws of New Hampshire. Such information to include the name of owner, the amount cut, and the tax paid.
- *11. To see if the Town will authorize the Selectmen to publish a complete list of property taxes in the Town ... Report every year.
- 12. To see what disposition the Town will vote to make of the income of the Jotham Lord Fund.
- 13. To see if the Town will raise and appropriate the sum of \$300.00 for the support of the library.
- 14. To see if the Town will raise and appropriate the sum of \$150.00 for the upkeep of the cemeteries
- 15. To see if the Town will vote to raise and appropriate the sum of \$125.00 to be spent under the direction of the selectmen for resetting and repairing the monuments in the cemeteries in Westmoreland.
- *16. To see if the Town will vote to raise and appropriate the sum of \$250.00 to buy culvert and straighten the sharp corner on the hill of Olin Clayton's road.
- *17. To see if the Town will vote to raise and appropriate the sum of \$850.00 to finish the permanent top on London Hill Road to Route #12.

- *18. To see if the Town will vote to raise and appropriate the sum of \$250.00 to buy culvert and fix the approach to Cooke's Road from Route #12.
- *19. To see if the Town will vote to have the N. H. State Tax Commission reassess the Town's taxable real estate under the Tax Commission's reappraisal program or take any action relating thereto.
- 20. To see if the Town will raise and appropriate a sum not to exceed \$200.00 for a garbage disposal unit for use in the Town Hall.
- 21. To see if the Town will vote to raise and appropriate the sum of \$1,500.00 to be used with the \$500.00 already raised to widen and repair the Aldrich Bridge on the lower Walpole road.
- *22. To see what action the Town will take relative to straightening out and eliminating the hazards on the South Village-East Westmoreland Road starting at Starkey's Corner, Nim's Pond area and Jenkin's Hill.
- *23. To see if the Town will vote to relocate the Atherton Bridge, so-called, and straighten the approaches thereto and to raise and appropriate the sum of from current revenues and to borrow to be amortize at the rate of each year and to authorize the selectmen to issue bonds or serial notes for repayment of same.
- 24. To see if the Town will vote to authorize the selectmen to quit claim to the Savings Bank of Walpole any title and interest that the Town of Westmoreland has in the Perley Lund property on payment by said bank of \$500.69 being the amount of taxes and costs due to the Town.
- 25. To see if the Town will authorize the selectmen to sell at public auction all lands and buildings acquired by the Town by tax collector's deeds granting the selectmen the power to reject any and all bids to safeguard the best interests of the Town.
- *26. To see if the Town will vote to raise and appropriate the sum of \$97.00 (1/100 of 1% of the valuation of

the Town) to the Monadnock Region Association of Southwestern New Hampshire for issuance and distribution of printed matter, newspaper and magazine advertising, and by other means calling attention to the resources and natural advantages of the Town in cooperation with the other thirty-seven towns of the Monadnock Region.

- 27. To see what action the Town will take concerning the taxation of any business or businesses which might locate in Town and determine the length of tax exemption on real estate.
- 28. To see if the Town will vote to authorize the Selectmen to borrow money in anticipation of taxes.
- 29. To see if the Town will vote to authorize the Selectmen to use the 10% of Head Tax granted by the State of N. H. for the listing, assessment and collection of same according to the Laws of New Hampshire Chapter 29:9.
- 30. To see if the Town will vote to rescind Article 27 adopted by the Town at its meeting March 12, 1957.
- 31. To see if the Town will vote to elect by ballot at each annual meeting one highway agent for the Town of Westmoreland starting with the annual meeting of 1960.
- 32. To see if the Town will vote to raise and appropriate the sum of \$500.00 to be used for widening and graveling the road starting at the Cutler place to its intersection with the road leading past Amos Hatt's place.
- 33. To transact any other business which may legally come before said meeting.

Given under our hands and seal, this 2nd day of February, in the year of our Lord nineteen hundred and fifty-nine.

W. VAN WARREN
THEODORE H. DINKEL
DONALD A. PAINE
Selectmen of Westmoreland

A true copy of Warrant—Attest:

W. VAN WARREN
THEODORE H. DINKEL
DONALD A. PAINE
Selectmen of Westmoreland

TOWN MEETING

March 11, 1958

The meeting was opened at 9:13 o'clock A.M. by Moderator Paul D. King who read the Warrant. It was moved, seconded and carried that Article 1 would remain open for the duration of the meeting. The polls were declared closed at 6:45 o'clock P.M. by the Moderator.

Articles 2 and 3 were taken up together, item by item. It was voted to raise and appropriate the following sums:

Town Officers' Salaries	\$2,025.00
Town Officers' Expenses	1,250.00
Election and registration expenses	250.00
Expenses Town Hall and other	
Town buildings	2,615.00
Police Department	100.00
Fire Department	1,400.00
Moth extermination —	
Blister rust control	400.00
Health Department,	
including hospitals	25.00
Vital Statistics	45.00
Town dump and rubbish removal	500.00
Town Highway and Bridge	
Maintenance—Summer	7,900.00
Town Highway and Bridge	
Maintenance—Winter	4,000.00
Street Lighting	375.00
General expenses of	
Highway Department	5,300.00
Town Road Aid	701.94
Libraries	300.00
Town Poor	1,200.00
Old Age Assistance	3,000.00
Memorial Day and	
Veterans' Associations	10.00

Aid to soldiers and their families 50.00
Parks and playgrounds,
including band concerts 100.00
Cemeteries 150.00
Damages and legal expenses 125.00
Advertising and Regional Associations 94.00
Employees' Retirement and
Social Security 350.00
Interest on temporary loans 300.00
Interest on long term notes 550.00
New construction—permanent
improvements—highways and bridges 450.00
Tarring London Hill Road 1,000.00
Payment on Principal of debt—
long term notes 4,000.00
Total \$38,565.94

Article 4. It was voted to accept the reports of agents and auditors.

Articles 5 and 16 were taken up together. Mr. A. F. Hudson moved that the Town raise and appropriate \$200.00 under Article 5; seconded by David G. Adams, and carried by voice vote. Under Article 16 David Adams moved not to close Wentworth Road; seconded and carried by voice vote.

Article 6. It was voted to raise and appropriate the sum of \$4,000.00 for snow removal and sanding on either Class V or Class VI roads.

Article 7. It was moved by Hugh A. Shelley, Sr. and seconded by R. E. Perry, and voted to raise and appropriate the sum of \$1,000.00 to put a permanent top on London Hill Road, so-called, from the railroad bridge toward Route No. 12.

Article 8. It was voted to raise and appropriate the sum of \$701.94 for Class IV and Class V roads.

Article 9. A ballot vote was taken on this Article and 114 ballots were cast, 71 favorable and 43 unfavorable. Therefore the Zoning and Building Regulations were adopted. A copy of the Building and Zoning Regulations as submitted to the voters is included as a part of this record.

Westmoreland, N. H. March 1, 1958

Proposed Zoning and Building Regulations for the

 $Town\ of\ Westmoreland,\ Cheshire\ County,\ New\ Hampshire$

Article I

To promote the health, safety, convenience, prosperity and general welfare of the Town of Westmoreland and to protect and enhance the value of its properties, the following regulations are hereby enacted by the voters of Westmoreland, pursuant to authority conferred by Chapter 31, Sections 60 - 89, and Chapter 156, Sections 1 - 5 of the New Hampshire Revised Statutes, Annotated 1955.

Article II

For present purposes these Zoning and Building Regulations shall be effective only to a depth of five hundred (500) feet on each side of all roads and highways in Westmoreland, except that they shall not affect any building now existing or under construction.

For the purpose of these Regulations the Town of Westmoreland is divided into three (3) Districts as shown on the Zoning map filed with the Town Clerk and dated March 11, 1958 and described as follows:

- ZONE A Route #63 from River Road to Farrhill Road to be zoned for residence only. Churches and schools permitted in this area
- ZONE B Route #63 from Farrhill Road to Poocham Road; East Westmoreland Road so-called as far as the Cross Road at Nim's Pond, so-called, and Route #12 from East Westmoreland Cemetery to the Surry Town Line, to be zoned for residences and small businesses and professions and agriculture. Churches and schools permitted in these areas.

ZONE C All other roads, and sections of roads not included in Zones A and B, to be zoned for residential and agricultural purposes.

Article III Provisions

- A. Every dwelling house to be established on the roads and highways specified in Article II, within 500 feet from the center line of any such road or highway shall be set back from the center line of the road or highway a distance of at least 50 feet, and shall be set back at least 10 feet from the side and rear property lines. They shall have a minimum ground floor area of 600 square feet, approximately 20 feet by 30 feet for each family unit. Exception: This provision shall not affect the size of floor area of motels or cabins used for guests staying overnight or by the week.
- B. Every dwelling house, camp, other building, or additions to presently existing dwellings or buildings is to be finished on the exterior in a permanent manner, and is to be painted on the outside, whenever the same is of wood or a material customarily painted.
- All chimneys shall be constructed of stone, brick, cement or cinder block to the ground; each shall be lined with tile and extend at least two feet above the roof to which it belongs and shall have a cleanout opening at the base. All entrances to chimneys shall be of fireproof construction. Chimneys shall not be used to support beams or timbers in any manner. No smoke pipe shall be installed so as to be within twelve inches of any combustible floor or ceiling, unless amply protected with non-combustible material. No smoke pipe shall be installed which passes into or through partitions or walls of combustible material, except when guarded by a double collar of metal with air space of at least five inches or by at least five inches of brick or other non-combustible material between the pipe and the combustible material.
- D. No roof of any building shall be covered or recovered in whole or in part save with non-combustible or fire-resistant roofing material.
- E. Sewage disposal systems for new dwellings or other

- buildings designed for human occupancy shall consist of an approved septic tank and will follow the requirements of the Health Laws of the State of New Hampshire. The disposal area for effluent from any septic tank shall be no nearer than seventy-five (75) feet of a public body of water, except where special permission is granted by the Town Health Officer.
- F. No owner or occupant of any land within said areas shall permit any building or fire ruins thereon to be left unfinished or incomplete on the exterior, but shall finish or remove the same within two (2) years. This section shall not apply to any existing building or buildings under construction.
- G. No junk yard or place for the storage of discarded machinery, vehicles or scrap material shall be permitted in any zoned area of the town.
- H. Trailer camps and mobile home subdivisions shall not be permitted in the town until approval has been granted by the Board of Adjustment, after a public hearing.
- I. Outdoor advertising signs shall not be permitted in the town until approval has been granted by the Board of Adjustment. Exception: Owners of land may erect small signs of not over 12 square feet in size on their own land for advertising their own products or goods raised or made on the premises.

Article IV Enforcement

- A. It shall be the duty of the Board of Selectmen and the Board is hereby given power and authority to enforce the provisions of the Ordinance.
- B. There shall be an Inspector of Buildings, and the Board of Selectmen shall be and is hereby empowered to appoint an Inspector of Buildings.
- C. The Inspector of Buildings shall issue any and all building permits requested, when such permit is in accordance with the provisions of this ordinance or legally authorized by the Board of Adjustment, and then only. The applicant shall pay a fee for the issuance of a permit based on the full value of the project involved, said fee to be retained by the Inspector of Buildings

as compensation for his services.

Fees shall be in the following amounts:

Less than \$1,000.00 in value — \$2.00; \$1,000.00 to \$5,000.00 in value — \$5.00; over \$5,000.00 in value — \$7.00.

A permit issued under the provisions of the ordinance shall expire and become invalid three years from the date of issuance.

- D. Permits. After passage of this ordinance, it shall be unlawful to erect any permanent building or alter the bulk of any building or permanently relocate any building in any district, without first obtaining a building permit from the Inspector of Buildings. Matters regarding safe practice and building design not specifically provided for in this Ordinance, shall be governed by the National Building Code, recommended by the National Board of Fire Underwriters.
 - Installation of wiring and fixtures for electricity in buildings or structures must comply with the New Hampshire Fire Underwriters Code.
- E. No permit shall be required for remodeling or repairing the exterior of any building, when the total cost of such work including materials will not exceed \$500.00.
- F. Upon any well founded information that this Ordinance is being violated, the Selectmen shall on their own initiative take immediate steps to enforce the provisions of this Ordinance by seeking an injunction in the Superior Court, or by any other legal action.

Article V Board of Adjustment

Within thirty days after the adoption of this Ordinance and thereafter as terms expire or vacancies occur, the Board of Selectmen shall make appointments to a Board of Adjustment of five (5) members, conforming in duties to the provisions of Chapter 31 of the New Hampshire Revised Statutes Annotated 1955. Thereafter as terms expire or vacancies occur, the appointing Authority shall be responsible for filling vacancies and maintaining full membership in the Board of Adjustment. The Board of Adjustment here provided shall conform in membership and term of office to the provisions of Section 67, Chapter 31 of the

New Hampshire Revised Statutes, Annotated 1955.

In addition to the general powers granted said Board of Adjustment by said Chapter 31, it may in harmony with, and subject to its provisions:

A. Allow slight variances from the specific terms of this Ordinance, where it can be shown that unnecessary hardship would otherwise result.

Article VI Penalties

Every person, persons, firm or corporation violating any of the provisions of this Ordinance shall, upon conviction, be fined not more than ten dollars (\$10.00) for each day of said violation.

Article VII Validity

The invalidity of any section or provision of this Ordinance shall not invalidate any other section or provision thereof.

Article VIII Amendment

This Ordinance may be amended by a majority vote at any legal Town Meeting when such amendment is published in the Warrant calling for the meeting, and when such amendment has received a public hearing, which hearing has been advertised and given a legal fifteen day notice.

Article IX Effective Date

This Ordinance shall take effect upon its passage.

Adopted at Town Meeting, March 11, 1958 by ballot vote
FENN B. NEWELL

Town Clerk

Article 10. It was voted to raise and appropriate the sum of \$7,900.00 for Summer Maintenance of highways and bridges.

Article 11. It was voted to accept the sum of \$100.00, the income from same to be used for the upkeep of the Laura and William E. Brown cemetery lot in East Westmoreland.

Article 12. It was voted to use the income from the Jotham Lord Fund for the support of the Town Library.

Article 13. It was voted to close, subject to gates and bars, the old Route No. 12 road, starting from the East side of the new route No. 12 by the Ox-Yoke on the Walpole Town line.

Article 14. It was voted to close, subject to gates and bars, the road known as the Old Post Road, from the barn of Roy Bosworth to the road leading to Olin Clayton, and from the Clayton barn to its junction with Route No. 12.

Article 15. It was voted to raise and appropriate the sum of \$300.00 for the support of the Library.

Article 16. Taken up with Article #5.

Article 17. It was voted to raise and appropriate the sum of \$150.00 for upkeep of Cemeteries.

Article 18. It was voted to authorize the Selectmen to borrow money in anticipation of taxes.

Article 19. A ballot vote was taken on this Article. There were 70 ballots cast — 52 favorable, 18 unfavorable, therefore the Article was approved.

Article 20. A ballot vote was taken on this Article. There were 78 ballots cast — 37 favorable, 41 unfavorable, therefore the Article was not approved.

Article 21. It was voted to raise and appropriate the sum of \$400.00 for White Pine Blister Rust Control.

Result of Election of Town Officers 439 names on Check List. 285 ballots cast under Article I.

Town Clerk, Fenn B. Newell had 253 votes—elected. Selectman for 3 years, Donald A. Paine had 154 votes—elected.

Selectman for 3 years, Walter E. Dunn had 122 votes.

Selectman for 3 years, Abbot Royea had 4 votes.

Selectman for 3 years, Arthur S. Christian had 1 vote.

Selectman for 1 year, William Van V. Warren had 170 votes—elected.

Selectman for 1 year, Richard D. Rhodes had 83 votes.

Selectman for 1 year, John B. Knight had 28 votes.

Selectman for 1 year, H. Publicover had 2 votes.

Town Treasurer—Marjorie A. Hudson had 259 votes—elected.

Tax Collector—Fenn B. Newell had 262 votes—elected. Trustee of Town Library—Lucy L. Thompson had 260 votes—elected. Auditors—Theodora A. Gerould had 217 votes—elected. Edna M. Paine had 218 votes—elected.

Trustee of Trust Funds—3 years—George W. Aldrich had 249 votes—elected.

Constable—David G. Adams had 127 votes—elected.

Constable—William E. Marcon had 63 votes.

Constable—William J. Nickerson had 38 votes.

Constable—Arthur H. Hatt had 36 votes.

Surveyor of Wood and Lumber—Donald A. Paine had 30 votes—elected.

Surveyor of Wood and Lumber—Howard Smith had 24 votes—elected.

Surveyor of Wood and Lumber—Charles Kingsbury had 13 votes—elected.

Fence Viewer—John P. Foster had 11 votes—elected.

Fence Viewer—John Watkins had 10 votes—elected.

Fence Viewer—Thomas Barrett had 10 votes—elected.

Member of Budget Committee—3 years, Alonzo F. Hudson had 241 votes—elected.

Briggs Fund Committee—Helen F. Cousens had 233 votes—elected.

Briggs Fund Committee—Lucy L. Thompson had 243 votes—elected.

The Moderator declared those having the majority of the votes cast, duly elected. The Selectmen, Town Clerk, Tax Collector, Trustee of Trust Funds and Auditor, Edna M. Paine, were sworn in by the Moderator, Paul D. King. All other elected officials were shown in by the Town Clerk. FENN B. NEWELL

Town Clerk

A true copy, attest

FENN B. NEWELL

Town Clerk

Returns of Primary Election of Sept. 9, 1958

Names on Check List 436

Republican Ballots cast 178

Democratic Ballots cast 18

Republican Returns

Governor

Elmer E. Bussey had 0 votes Erasley C. Ferguson had 6 votes Hugh Gregg had 79 votes
Wesley Powell had 52 votes
W. Douglas Scamman had 32 votes
Representative in Congress — Second District
Perkins Bass had 154 votes

Councilor

Frederick H. Fletcher had 41 votes Harold Weeks had 114 votes Senator

Evans H. Barrett had 50 votes Leroy E. Codding had 27 votes Charles C. Eaton had 63 votes Norman O. Trask had 26 votes Representative

Representative
Theodore H. Dinkel had 65 votes
John H. Terry, Jr. had 103 votes
Supervisor of Check List
Merton C. Leach had 144 votes
Gladys L. Ploof had 141 votes
Annie M. Shelley had 154 votes

Moderator
Paul D. King had 153 votes
Delegate to State Convention
John H. Terry, Jr. had 18 votes

Democratic Returns Governor

Bernard L. Boutin had 1 vote Alfred J. Champagne had 2 votes Albert R. Courtois had 1 vote John Shaw had 10 votes

Representative in Congress — Second District George F. Brown had 3 votes Stuart V. Nims had 10 votes

Councilor

Royal Dion had 12 votes
Delegate to State Convention
David L. Howland had 14 votes
Representative to General Court
John H. Terry, Jr. had 4 votes (write-in)
Moderator

Paul D. King had 4 votes (write-in)

Vote for County Officers Republican Returns

Frank W. Walker of Keene had 168 votes for Sheriff.

Arthur Olson, Jr. of Keene had 160 votes for County Solicitor.

Clyde M. Davis of Keene had 150 votes for County Treasurer.

D. Reed Chaplin of Keene had 158 votes for Register of Deeds.

Esther G. Bennett of Keene had 160 votes for Register of Probate.

For County Commissioners

Harold O. Pierce, Walpole, First District, had 158 votes.

James E. McCullough, Keene, Second District, had 88 votes.

Sheldon L. Barker, Sr., Keene, Second District, had 57 votes.

Ralph E. Boynton, Jaffrey, Third District, had 140 votes.

Democratic Returns

Cortland Putnam of Winchester had 10 votes for Sheriff.

George R. Hanna of Keene had 11 votes for County Solicitor.

M. Catherine MacKnight of Keene had 12 votes for Register of Deeds.

Marie L. Belivieu of Keene had 11 votes for Register of Probate.

For County Commissioners

Malcolm W. Sullivan, Chesterfield, First District, had 12 votes.

Gerard F. Russell, Keene, Second District, had 10 votes. Geoffroy J. Frechette, Marlborough, Third District, had 10 votes.

FENN B. NEWELL

Town Clerk

A true copy of the record, attest:

FENN B. NEWELL

Town Clerk

Returns of Election of November 4, 1958

Names on the Check List Regular State Ballots cast Absentee Ballots cast	436 251 9	
Total number of Ballots cast For Governor	260	
Wesley Powell (R)	had	139 votes
Bernard L. Boutin (D)	had	115 votes
For Representative in Congress		
Perkins Bass (R)	had	193 votes
Stuart V. Nims (D)	had	49 votes
Harvey M. Bailey (P)	had	l 1 vote
For Councilor		
Harold Weeks (R)	had	193 votes
Royal Dion (D)	had	49 votes
For Senator		
Charles C. Eaton (R)	had	191 votes
Charles C. Eaton (D)	had-	44 votes
For Supervisors of Check List		
Merton C. Leach (R)	had	222 votes
Gladys L. Ploof (R)		215 votes
Annie M. Shelley (R)	had	217 votes -
For Moderator		
Paul D. King (R)		222 votes
Question A—Vote on the operation of S Yes 100 — No 115.	State	Stores—
Question B—Vote on Sale of Beverages—Yes	152	—No 82.
Vote for County Officers For Sheriff		
Frank W. Walker (R) Keene		225 votes
Cortland Putnam (D) Winchester For County Solicitor	had	31 votes
Arthur Olson, Jr. (R) Keene	had	185 votes
George R. Hanna (D) Keene	had	60 votes
For County Treasurer		
Clyde M. Davis (R) Keene For Register of Deeds	had	195 votes
D. Reed Chaplin (R) Keene	had	201 votes
M. Catherine MacKnight (D) Keene For Register of Probate	had	41 votes
Esther G. Bennett (R) Keene	had	203 votes

Marie L. Belivieu (D) Keene had 35 votes

For County Commissioner

Harold O. Pierce (R), First District, Walpole,

had 202 votes

Sheldon L. Barker, Sr. (R), Second District, Keene,

had 189 votes

Ralph E. Boynton (R), Third District, Jaffrey,

had 195 votes

Malcolm W. Sullivan (D), First District, Chesterfield,

had 41 votes

Gerard F. Russell (D), Second District, Keene,

had 37 votes

Geoffroy J. Frechette (D), Third District, Marlborough,

had 35 votes

For Representative to the General Court

John H. Terry, Jr. (R) Westmoreland had 160 votes John H. Terry, Jr. (D) Westmoreland had 30 votes Theodore H. Dinkel, Sr. (R) Westmoreland had 42 votes Theodore H. Dinkel, Sr. (D) Westmoreland had 6 votes

John H. Terry, Jr. (R) of Westmoreland having received a plurality of votes given in, was declared by the Moderator to have been elected Representative to the General Court for two years from the first Wednesday in January, 1959.

Vote on Proposed Amendments to the Constitution

The whole number of votes cast was 260

Question #1	Yes 141	No 33
Question #2	Yes 137	No 31
Question #3	Yes 140	No 19

A true copy of record and I certify that the check list was duly posted and used during the balloting.

FENN B. NEWELL

Town Clerk

A true copy of the record, attest:

FENN B. NEWELL

Town Clerk

The Moderator, Paul D. King, having been duly elected, was sworn in by the Town Clerk.

VILLAGE DISTRICT MEETING

March 13, 1958

The meeting was opened at 8:07 P.M. by the Moderator, John H. Terry, Jr., who read the Warrant.

Article 1. It was voted that the Clerk cast one ballot for the election of John H. Terry, Jr. to be Moderator for the ensuing year.

Article 2. It was voted that the Moderator cast one ballot for the election of Fenn B. Newell to be Clerk for the ensuing year.

Article 3. It was voted that the Clerk cast one ballot for the following to be Commissioners:

David G. Clapp for 3 years

Gertrude M. Mackinen for 2 years

Edward V. Comerford for 1 year

Article 4. It was voted that the Clerk cast one ballot for Lois M. Delano to be Treasurer for the ensuing year.

Article 5. It was voted that the Clerk cast one ballot for Theodora A. Gerould to be Auditor for the ensuing year.

Article 6. It was moved, seconded and carried that the District accept the budget as submitted by the Budget Committee as follows:

District share of cost of new Fire Truck	\$	3,000.00
Damages and legal expenses		50.00
Interest on long term notes		120.00
Payment on Principal of Debt		600.00
3.2	7.5 - 8.5 - 8.	

Total \$3,770.00

Article 7. It was voted to authorize the Commissioners to borrow money in anticipation of taxes. This was a unanimous vote by voice vote.

Article 8. John P. Foster moved that the Commissioners be empowered to designate three (3) summer residents, property owners of the District, to be Honorary Commissioners for one year, without duties, power or authority and to be officially notified by the Clerk of the appointment. Seconded by Miss Gerould. Carried by acclamation.

Meeting adjourned at 8:58 o'clock P.M.

FENN B. NEWELL

Clerk

A true copy of the record, attest:

FENN B. NEWELL

Clerk

BUDGET OF THE TOWN OF WESTMORELAND

ESTIMATES OF REVENUE AND EXPENDITURES
FOR THE ENSUING YEAR JANUARY 1, 1959
TO DECEMBER 31, 1959 COMPARED WITH
ESTIMATED AND ACTUAL REVENUE,
APPROPRIATIONS AND EXPENDITURES OF THE
PREVIOUS YEAR

JANUARY 1, 1958 TO DECEMBER 31, 1958

SOURCES OF REVENUE

	Estimated Revenue Previous Year 1958	Actual Revenue Previous Year 1958	Estimated Revenue Ensuing Year 1959
From state:	1011 1770	201 2//0	2002 2777
Interest and dividends			
ax	\$3,300.00	\$3,347.87	\$3,300.00
Railroad tax	410.00	333.68	350.00
Savings bank tax	300.00	299.93	300.00
Gas tax	265.69	265.69	265.00
Reimbursement a/c state a	nd		
federal forest lands	1.30	7 1.66	1.30
Reimbursement a/c exempt	cion		
of growing wood and			
timber	2,000.00	1,949.15	2,000.00
For fighting forest fires		13.81	
Refund head tax		17.73	
From local sources exc	ept taxes:		
Dog licenses	325.00	377.00	375.00
Business licenses, permits			
and filing fees	25.00	27.00	25.00
Interest received on taxes		504.72	500.00
Income from trust funds		249.03	250.00
Income of department	s:		
(a) Highway, including re	ntal		
of equipment		15.00	10.00
Fire truck, precinct share		2,973.00	
Town of Chesterfield		27.00	

	Estimated Revenue Previous Year 1958	Actual Revenue Previous Year 1958	Estimated Revenue Ensuing Year 1959
Aldis Cushing for wood		18.00	
Income from municip	ally owned ı	utilities:	
Motor vehicle permit fees	3,500.00	3,708.03	3,700.00
Sale of town property			1,000.00
Amount raised by issu	ue of bonds	or notes:	
Fire truck, town share		8,000.00	
From local taxes other	r than prop	erty taxes:	
(a) Poll taxes—			
regular @ \$2.00	650.00	665. 20	665.00
(b) National Bank			
stock taxes	20.00	20.00	20.00
(c) Yield taxes	1,000.00	778.98	775.00
Total revenues from all so	urces		
except property taxes	\$12,271.99	\$23,592.48	\$13,536.30
Amt. to be raised			
by prop. taxes	\$26,299.95		\$25,747.14

PURPOSES OF EXPENDITURES

	Appropriations Previous Year 1958	Actual Expenditures Previous Year 1958	Appropriations Recommended by Budget Committee 1959
Current Maintenance General Government:	Expenses:		
Town officers' salaries	\$2,025.00	\$2,088.30	\$2,100.00
Town officers' expenses	1,250.00	1,178.00	1,200.00
Election and registration	,	,	,
expenses	250.00	463.58	200.00
Expenses town hall and			
other town bldgs.	2,615.00	2,839.20	2,500.00
Protection of persons	and propert	ty:	
Police department	100.00	89.91	100.00
Fire department	1,400.00	13,299.59	1,600.00
Moth exterm.—blister rust			
& care of trees	400.00	400.00	
Insurance		58.84	
Health:			
Health department,			
including hospitals	25.00		25.00
Vital Statistics	45.00	24.50	25.00
Town dump and			
garbage removal	500.00	457.55	600.00
Highways and Bridges	s:		
Town maintenance—			
summer	7,900.00	6,158.46	7,900.00
Town maintenance—			
winter	4,000.00	4,245.77	4,000.00
Street lighting	375.00	293.15	300.00
General expenses of			
highway department	5,300.00	6,028.12	5,300.00
Town road aid	701.94	701.94	701.94
Libraries	300.00	300.00	300.00
Public Welfare:			
Town poor	1,200.00	437.79	1,200.00
Old age assistance	3,000.00	2,574.38	3,000.00
Patriotic Purposes:			
Memorial Day and			
Veterans' Associations	10.00	12.50	12.50
Aid to soldiers and			
their families	50.00		50.00

	Appropriations Previous Year 1958	Actual Expenditures Previous Year 1958	Appropriations Recommended by Budget Committee 1959
Recreation:			
Parks and playgrounds			
incl. band concerts	100.00	85.95	100.00
Public Service Enterp			
Cemeteries	150.00	118.29	275.00
Unclassified:			
Damages and legal			
expenses	125.00	105.20	100.00
Advertising and Regional			
Associations	94.00	94.00	94.00
Employees' retirement and			
social security	350.00	213.80	300.00
Interest:		0.40.00	
On Temporary Loans	250.00	242.00	270.00
On long term notes	850.00	358.33	6 50.00
Outlay for new constr	uction and		
perm. improv.:			
Highways and Bridge			
Wentworth Rd.—200 Aldr		050 50	4 500 00
bridge—250	450.00	252.78	1,500.00
Town Construction:	4 000 00	005 51	4 000 00
London Hill Rd.	1,000.00	997.71	1,800.00
Workmen's Comp. Ins.		346.89	350.00
Atherton bridge account		1,423.86	
Butterfield Hill bridge	0.70.11	484.02	
Payment on Principal		9.000.00	0.000.00
Long term notes	4,000.00	3,000.00	3,000.00
-			

DAVID G. CLAPP
JOHN WATKINS
LEWIS H. COUSENS
CARL E. MESSER
ALONZO F. HUDSON
W. VAN WARREN
Budget Committee

\$38,565.94 \$49,374.41 \$39,283.44

Total expenditures

REPORT OF THE SELECTMEN

SUMMARY OF INVENTORY OF 1958

Land and Buildings	\$873,570.00
Mills and Machinery	2,400.00
Electrical Distribution and Meters	68,960.00
Mature Wood and Timber	250.00
Stock in Trade	6,050.00
Boats and Launches, 1	100.00
Horses and Mules, 19	1,150.00
Cows, 678	51,030.00
Neat Stock, 80	4,300.00
Sheep and Goats, 171	2,660.00
Fowl, 4,350	3,160.00
Gasoline pumps and Tanks, 12	1,900.00
Total Gross Valuation	\$1,015,530.00
Less soldiers' exemptions	45,220.00
Zono dollarollo chempolollo	
Net valuation on which tax rate is computed	\$970,310.00
ASSESSMENT OF 1958	
Town officers' salaries	\$2,025.00
Town officers' expenses	1,250.00
Election and registration	250.00
Town Hall	2,615.00
Police Department	100.00
Fire Department	1,400.00
Blister Rust	400.00
Health Department	25.00
Vital Statistics	45.00
Town Dump	500.00
Town Road Aid	701.94
Town Maintenance—	
Summer \$7,900.00, Winter \$4,000.00	11,900.00
Street Lighting	375.00
General Expense Highway Department	5,300.00
Libraries	300.00
Old Age Assistance	3,000.00
Public Relief	1,250.00
Memorial Day	10.00
Parks and Playgrounds	100.00
Cemeteries	150.00

Tarring London Hill	1,000.00
Damage and Legal Expenses	125.00
Regional Association	94.00
Social Security	350.00
New Construction Road and Bridges	450.00
Payment on Debt	4,000.00
Interest	850.00
County Tax	3,067.20
School Tax	50,050.50
Total Town and School Appropriations	\$91,683.64
ESTIMATED REVENUE AND CRED	
Interest on Taxes	\$400.00
Interest and Dividend Tax	3,342.64
Railroad Tax	410.00
Savings Bank Tax	300.00
Reimbursement State and Federal Lands	1.30
Yield Taxes	3,000.00
Dog Licenses	325.00
Permits	25.00
Motor Vehicle Permit Fees	3,500.00
Gas Tax	265.69
Total Revenues and Credits	\$11,569.63
Total Town and School Appropriations	\$91,683.64
Less Revenues and Credits	11,569.63
	\$80,114.01
Plus Overlay	315.47
	\$80,429.48
Less 325 Poll Taxes at \$2.00	650.00
	\$79,779.48
Less National Bank Taxes	20.00
ZOON ZIWIOIW ZWIII ZWION	
Amount to be raised by taxes	\$79,759.48
Tax Rate \$82.20 per thousand	
Westmoreland Village District Rate \$2.40 per th	
After Assessment Linwood & Vera Burt Town Ta	
Albert Higgins	12.33
Linwood & Vera Burt Precinct	Tax 2.16
SUMMARY OF RECEIPTS	

27

Received of Fenn B. Newell, Tax Collector:

1957 Poll tax and penalties	000000
1958 Poll tax and penalties	\$226.80
1957 Head tax and penalties	438.40
	716.00
1958 Head tax and penalties 1956 Yield tax	1,388.00
1956 Yield tax 1957 Yield tax	200.53
	565.32
1956 Interest	13.13
1957 Property tax	20,821.11
1957 Property tax interest	481.46
1958 Property tax	54,021.38
1958 Property tax interest	10.13
1955 Redemptions, interest and costs	81.67
1956 Redemptions, interest and costs	328.19
1957 Redemptions, interest and costs	876.71
1958 National Bank stock tax	20.00
Received of Fenn B. Newell, Town Clerk:	
1957 Auto permits	27.73
1958 Auto permits	3,680.30
1958 Dog licenses and penalties	377.00
1958 Filing fees	27.00
Received of State Treasurer:	
1957 Railroad tax	333.68
Refund one head tax (1957)	5.00
1958 Savings Bank tax	299.93
1958 Interest and Dividends tax	3,347.87
1958 Maintenance of Class V Highways (gas tax)	265.69
1958 Reimbursement—Expense 1958 head tax	12.73
1958 Reimbursement—State forest reserve land	1.66
Forestry and Recreation Dep't	
($\frac{1}{2}$ forest fire bill)	5.48
(Fire training)	8.18
(reimbursement on white pine blister rust)	.15
Received of Cheshire National Bank:	
Borrowed in anticipation of taxes	16,000.00
Long term note (fire truck)	8,000.00
Received of Trustee of Trust Funds:	
Starkey Gift Fund interest (1957)	249.03
Received—Cemetery Trust Funds:	
Mrs. George H. Joslin (Keith lot)	100.00
Received of Village Precinct:	
Cost share of fire truck	2,973.00
Received of Town of Chesterfield:	
$\frac{1}{2}$ cost of town line signs	27.00

Received of Carl and Thelma Messer: Use of town grader	15.00
Received of Aldis Cushing:	3
Reimbursement on wood for Mae Cushing	18.00
	\$115,963.26
SUMMARY OF PAYMENTS	
Town Officers' Salaries	\$2,088.30
Town Officers' Expenses	1,178.00
Election and Registration	463.58
Town Hall	2,839.20
Police Department	89.91
Fire Department	13,299.59
Blister Rust Control	400.00
Insurance	58.84
Road Maintenance—Summer	6,158.46
Road Maintenance—Winter	4,245.77
Town Dump	457.55
T. R. A.	701.94
Street Lighting	293.15
General Expense Highway Department	3,574.80
Libraries	300.00
Old Age Assistance	2,574.38
Public Welfare	437.79
Memorial Day	12.50
Parks and Playgrounds	85.95
Cemeteries	118.29
Damage and Legal	105.20
Monadnock Region Association	94.00
Taxes brought by Town	1,61 8.40
State Head Taxes	2,436.95
Social Security and Withholding	633.27
Timber Tax Account	149.63
Temporary Loans	16,000.00
Interest	600.33
Long Term Notes	3,000.00
Tar Account	2,453.32
Workman's Compensation Insurance	346.89
Precinct Taxes	496.28
Atherton Bridge Account	1,423.86
Butterfield Bridge Account	484.02
London Hill Road Account	997.71
Hudson Road Account	252.78

County Tax	3,067.20
Trust Fund Account	100.00
Starkey Gift Fund	249.03
Vital Statistics	24.50
School Account	40,774.17
Total	\$114,685.54
TOWN OFFICERS' SALARIES	
Edna M. Paine, auditor	\$35.19
Theodora A. Gerould, auditor	35.19
Lyle R. McClenning, selectman	122.19
William Van Warren, selectman	219.93
Theodore H. Dinkel, selectman	293.24
Donald A. Paine, selectman	293.24
Theodore H. Dinkel, making reports	48.88
Donald A. Paine, making reports	48.88
Charles H. Aldrich, salary as trustee of trust fund	ds 24.43
Hugh A. Shelley, salary as trustee of trust funds	24.43
Maude E. Messer, salary as trustee of trust funds	24.43
Marjorie A. Hudson, salary as treasurer	195.49
William Van Warren, listing head taxes	17.97
Theodore H. Dinkel, listing head taxes	17.96
Donald A. Paine, listing head taxes	17.97
Theodore H. Dinkel, overseer of public welfare	48.88
Fenn B. Newell, salary as tax collector	
and town clerk, issuing auto permits	
and collecting head taxes	620.00
Total	\$2,088.30
TOWN OFFICERS' EXPENSES	
Association of N. H. Assessors, dues	\$3.00
Edna M. Paine, postage	4.40
Lois A. Leach, typing town reports	24.44
Mrs. John Foster, typing town reports	4.26
Blodgett Studios, printing	13.10
Ashuelot Nat. Bank, box rent	4.40
Chase's, supplies	35.72
Fenn B. Newell, postage and expenses	63.54
State of N.H., law books	2.50
Wheeler and Clark	20.14
Robert Perry, expense	5.00
Ernest Page, printing	9.00
Barton Ins. Agency, town officers' bonds	128.40

Registrar of Deeds, records	33.67
Esther Bennett, records	.40
Donald A. Paine, records	16. 50
N. H. Town Clerks' Association, dues	3.00
Sentinel Printing Co., town reports	568.65
Keene Publishing Corp., notices	9.90
Barrett and Neale Corp., typewriter	85.00
Barton Ins. Agency, burglar insurance	40.00
N. H. Tax Collectors' Association, dues	3.00
Grace Willson, typing	10.00
Sargent Bros., supplies	42.05
D. Reed Chaplin, recording deeds	3.23
Barton Ins. Agency	17. 20
Edna M. Paine, copying town book	25.00
Nelson Lesure, supplies	2.50
	A4 450 00
Total	\$1,178.00
ELECTION AND REGISTRATION	
Keene Publishing Corp., notices	\$22.50
Ladies' Aid, dinners	8.25
Ina Delano, ballot clerk	35.68
Lois Leach, ballot clerk	35.67
Edna Paine, ballot clerk	24.93
Mary Hatt, ballot clerk	36.17
Pauline Thompson, ballot clerk	10.75
Paul D. King, moderator	63.55
Merton Leach, supervisor	58.65
Gladys Ploof, supervisor	58.65
Annie Shelley, supervisor	58.65
Great Meadow Grange, dinners	44.75
David Adams, police	5.38
Total	\$463.58
TOWN HALL	
J. R. Fredette, janitor	479.95
Public Service Co.	111.11
N. E. Tel. & Tel. Co.	165.19
Robert Blood, wood	120.00
Perley Safford, gas	78.75
Barton Ins. Agency	329.49
Walter Dunn, repairs	816.52
Charles Kingsbury, repairs	9.90
Hope Coal Co.	402.79

Farm Bureau Ins. Co.	229.32
H. G. Neugebauer Inc., work	61.05
Aldis Cushing, repairs on clock	15.00
Nelson Lesure, supplies	20.13
Total	\$2,839.20
POLICE DEPARTMENT	
David G. Adams	73.30
William E. Marcou	16.61
Total	89.91
FIRE DEPARTMENT	
Public Service Co.	114.37
N. E. Tel. & Tel. Co.	301.68
Guy's Oil Service	90.72
Southwestern Mutual Fire Aid, dues	5.00
Mack Trucks, Inc., new fire truck	11,892.00
State of N. H. Forestry Com., forest fire bill	10.95
Mason Ins. Agency	288.38
Brattleboro Roofing Co., repairs on fire house	19.50
Mack Trucks, Inc., repairs on fire truck	8.58
Robertson Motor Co., repairs	21.50
Paul Hatt, supplies	16.35
Barton Ins. Agency	51.50
Keene Two-way Radio	5.25
Pierce Putnam Ins. Agency	136. 20
Paul Hatt, fire warden	27.50
Nelson Lesure, supplies	86.18
Superior Oil Co., oil	36.62
Johnson Motor Parts, repairs	23.97
Frank A. Hubner, bulldozing water hole	98.00
Edwin King, labor water hole	26. 00
Richard Rhodes, labor water hole	19.55
Cheshire Oil Co.	19.79
Total	\$13,299.59
PINE BLISTER RUST CONTROL	
Paid N. H. State Forestry Com.	\$400.00
INSURANCE	
Barton Ins. Agency, ins. on Corner School	
and French Est.	\$58.84
and Prenen Past.	ψου.υτ

2012	
ROAD MAINTENANCE—SUMMER	
Expended by Leon McClenning	\$2,566.08
Expended by Charles Messer	1,426.45
Expended by Edwin King	2,165.93
ROAD MAINTENANCE—WINTER	
Expended by Leon McClenning	\$915.35
Expended by Charles Messer	1,565.49
Expended by Edwin King	1,764.93
TOWN DUMP	_,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Edwin King, labor	\$81.77
Paul King, labor	φο1.77 51.46
	25.20
Leon McClenning, collecting rubbish	
Paul King, care of dump	299.12
Total	\$457.55
TOWN ROAD AID	
Paid State of N. H.	\$701.94
	φ. σ.
STREET LIGHTING	#000 1F
Public Service Co. of N. H.	\$293.15
GENERAL EXPENSE OF HIGHWAY DEPA	
Scott Machinery Co., scraper blades	\$43.33
Robertson Motor, supplies	12.36
N. H. Dept. of Public Works, road signs	42.66
Barton Ins. Co., grader ins.	74.31
Merrimac Farmers Exchange, chloride	595.29
Pinnacle View Farm Equipment Co., labor on gra	
Hill-Martin Corp., grader parts	498.12
A. F. Hudson, paint	31.71
A. F. Hudson, supplies	6.41
Edwin King, labor on grader	98.30
Charles Messer, labor on grader	50.25
N. E. Culvert Corp., culverts	703.49
Pinnacle View Farm Equipment, grader parts	8.12
Gail W. Shelley, town line markers	57.34
Davis Riley, labor	3.91
Welcome Lumber Co., bridge plank	205.00
Leon McClenning, supplies	27.00
Perkins-Bassett-Wright Co., supplies	24.05
Chemical Corp., road salt	933.38
Total	\$3,574.80

LIBRARIES

LIBRARIES	
Paid Lucy L. Thompson, Treas.	\$300.00
OLD AGE ASSISTANCE	
Paid State of N. H. — Dept. of Public Welfare	\$2,574.38
WORKMAN'S COMPENSATION INSURA	ANCE
Paid Mason Ins. Agency	\$346.89
PRECINCT TAXES	φοτο.03
Paid Lois Delano, Treas. Village Precinct Taxes	\$496.28
ATHERTON BRIDGE ACCOUNT	φ430.20
Paid I. Kramer & Son Inc., steel	\$961.46
Paid Koppers Co. Inc., plank	404.80
Paid Newfane Lumber Co., plank	57.6 0
Total	\$1,423.86
BUTTERFIELD BRIDGE ACCOUNT	r
I. Kramer & Son Inc., steel	\$427.99
Leon McClenning, labor	56.60
neon medicining, lasti	
Total	\$484.02
LONDON HILL ROAD ACCOUNT	
Edwin King, labor	\$357.06
Charles Messer, labor	126.90
Tremount Tar Co., tar	455.75
N. H. State Grader, tarring	61.00
The state of the s	
Total	\$997.71
HUDSON ROAD ACCOUNT	
Edwin King, labor	\$252.78
COUNTY TAX	,
	ΦΩ Λ <i>CT</i> ΩΛ
Paid J. Eugene Felch, Treas.	\$3,067.20
TRUST FUND ACCOUNT	
Paid Trustees of Trust Funds for	
Trust Funds received by Town	\$100.00
PUBLIC WELFARE	
Nelson Lesure, groceries for Fancher's	\$120.14
Keene Clinic, care of William Fancher	5.00
Dr. George Prevost, care of William Fancher	52.00
Ruth Abbott, board bill	25.00
Public Service Co. of N. H., Fancher light bill	24.94
Elliot Community Hospital, care of William Fand	
Medical Hall, medicine for William Fancher	6.65
Medical Hall, medicine for william rancher	0.00

Nelson Lesure, groceries for Elroy Brown	20.00
Richard E. White, wood for Mae Cushing	18.00
Rockingham Memorial Hospital for Sarah Hall	66.71
Total	\$437.79
MEMORIAL DAY G. H. Tilden & Co., flags	\$12.50
PARKS AND PLAYGROUNDS	
Stephen Provencher, care of town common	\$43.99
Chase Tree Service, spraying trees	12.00
Raphael Carbonel, mowing town common	6. 50
J. B. Knight, mowing and raking Park Hill comm	on 23.46
Total (a)	\$85.95
CEMETERIES	
Linwood Burt, mowing cemeteries	\$34.21
Hugh Shelley, mowing cemeteries	36.17
Thornton H. Paine, mowing cemeteries	47.91
Total	\$118.29
DAMAGE AND LEGAL EXPENSE	S
James Davis, attorney fees	\$105.20
ADVERTISING AND REGIONAL ASSOCI	ATIONS
Paid Monadnock Region Association	\$94.00
TAXES BOUGHT BY TOWN	
Taxes bought by town	\$1,526.08
Interest on taxes bought by town	57.82
Cost of taxes bought by town	34.50
Total	\$1,618.40
STATE HEAD TAXES	
Paid State of N. H., head taxes	\$2,436.95
SOCIAL SECURITY AND WITHHOLDIN	
Paid Collector of Internal Revenue	\$213.80
Paid Security Tax, State of N. H.	419.47
The security range state of the transfer	
Total	\$633.27
TIMBER TAX ACCOUNT	
Paid N. H. State Treas., timber tax bond	
and retirement tax	\$149.63
TEMPORARY LOANS—ANTICIPATION O	
Paid Cheshire National Bank	\$16,000.00

INTEREST ACCOUNT	
Cheshire National Bank, interest on	
long term notes	\$232.33
Vermont Peoples National Bank, interest on	
long term notes	126.00
Cheshire National Bank, interest on	
temporary loans	242.00
Total	\$600.33
LONG TERM NOTES	φυου.υυ
Paid Cheshire National Bank, Hatt Bridge	\$1,000.00
Vermont Peoples National Bank, River Road	2,000.00
TAR ACCOUNT	_, 000,00
Paid Trimount Tar Co.	\$2,453.32
STARKEY TRUST FUND	φ <u>2,4</u> 00.02
Received from Trustees of Trust Funds	\$249.03
This money was distributed to a number of	Ψ240.00
elderly deserving people at Christmas time.	
VITAL STATISTICS	
Paid Fenn B. Newell, town clerk for listing	\$24.50
	φ=1.00
SCHOOL ACCOUNT	420 550 50
Balance due schools January 1, 1959 Raised for support of schools, 1958-1959	\$39,550.50 50,050.50
Paid on 1957-1958 appropriation	36,274.17
Paid on 1958-1959 appropriation	10,500.00
Total payments for schools 1958	40,774.17
	40,114.11
OUTSTANDING NOTES	
Vermont Peoples National Bank, May 20, 1947	@10.C00.00
River Road Note	\$12,600.00
Due Cheshire National Bank, November 28, 1956	1,600.00
Sewell Bridge Note	4,000.00
Due Druge Note	2,000.00
Cheshire National Bank, April 5, 1958	2,000.00
Fire Truck Note	8,000.00
Due	8,000.00
SCHEDULE OF TOWN PROPERTY	· ·
Town Hall, land and buildings	\$75,000.00
Library, building and contents	5,000.00
Fire Dept., building, trucks and equipment	24,000.00
School Dept., land and buildings	20,000.00
Road equipment	3,000.00
Police Department	50.00
Land and buildings acquired by tax sale	4,000.00

FINANCIAL REPORT OF THE TOWN OF WESTMORELAND IN CHESHIRE COUNTY

For the Fiscal Year Ended December 31, 1958

CERTIFICATE

This is to certify that the information contained in this report was taken from official records and is complete to the best of our knowledge and belief. Feb. 1, 1959.

> WILLIAM VAN WARREN THEODORE H. DINKLE DONALD A. PAINE

> > Selectmen

BALANCE SHEET

ASSETS

Cash:	
In hands of treasurer	\$14,046.87
Account due the Town:	
Due from State:	
Reimbursement a/c growing wood and timber	1,065.44
Unredeemed taxes (from tax sale on accoun	nt of)
Levy of 1957	769.32
Levy of 1956	680.32
Previous years	123.89
Uncollected taxes:	
Levy of 1958, property \$25,981.86, village	
dist. \$284.35, poll \$224.00, yield \$1,050.85	\$27,541.06
Levy of 1957, property \$123.09, timber \$411.78	534.87
State head taxes—levy of 1958	685.00
Total Assets	\$45,446.77
Excess of liabilities over assets (net debt)	7,391.99
Grand Total	\$52,838.76

Net debt—December 31, 1957	\$2,857.28
Net debt, December 31, 1958	7,391.99
Increase of debt	4,534.71
LIABILITIES	
Accounts owed by the town:	
	\$31.49
	500.00
Due to state:	
	228.00
Uncollected \$685.00—collected—not	-000
	685.00
Yield Tax—bond & debt retirement	
	243.77
Due to school districts:	
	550.50
Long term notes outstanding:	00000
	600.00
	000.00
Fire truck note 8,6	000.00
TD-4-1 T 1-1-1141	11,600.00
Total Liabilities Grand Total	\$52,838.76
Grand Total	\$52,838.76
RECEIPTS	
Current Revenue:	
From local taxes: (collected and	
remitted to treasurer)	
	021.38
v	138.4 0
National Bank stock taxes—1958	20.00
_ '	388.00
Total current year's taxes collected and	
remitted	\$55,867.78
Property taxes and yield taxes—	
previous years	21,586.96
Poll taxes—previous years	226.80
State head taxes @ \$5.00—previous years	716.00
Interest received on taxes	504.72

1,286.57

Tax sales redeemed

From State:	
Interest and dividends tax	3,347.87
Railroad tax	333.68
Savings bank tax and building and loan	
association tax	299.93
Reimbursement a/c state and	
federal forest lands	1.66
Refund head tax	17.73
Fighting forest fires	13.81
Reimbursement a/c motor vehicle	
road toll	265.69
From local sources, except taxes:	
Dog licenses	377.00
Business licenses, permits and filing fees	27.00
Income from trust funds	249.03
Registration of motor vehicles, 1957, permits	27.73
Registration of motor vehicles, 1958, permits	3,680.30
Total Current Revenue Receipts	\$88,830.26
Receipts other than Current Revenue:	
Temporary loans in anticipation	
of taxes during year \$16,000.00	
Long term notes during year 8,000.00	
Village precinct share of	
fire truck cost 2,973.00	
New trust funds received during year 100.00	
Town of Chesterfield, ½ cost of	
town line signs 27.00	
Carl and Thelma Messer, use of grader 15.00	
Aldis Cushing, reimbursement on wood for	
Mae Cushing 18.00	
Total Receipts Other than Current Revenue	\$27,133.00
Total Receipts from All Sources	\$115,963.26
Cash on hand January 1, 1958	12,769.15
Grand Total	\$128,732.41

PAYMENTS

Current Maintenance Expense:

General Government:	
Town officers' salaries	\$2,088.30
Town officers' expenses	1,178.00
Election and registration expenses	463.58
Expenses town hall and other	
town buildings	2,839.20
Protection of Persons and Prope	·
Police department	89.91
Fire department,	
including forest fires	13,299.59
Moth extermination—blister rust	
and care of trees	400.00
Insurance	58.84
Workmen's Compensation Insurance	346.89
Health:	
Vital statistics	24.50
Town dumps and garbage removal	457.55
Highways and Bridges:	
Town road aid	701.94
Town maintenance (summer, \$6,158.	46)
winter, \$4,245.77)	10,404.23
Street lighting	293.15
General expenses of highway	
department	3,574.80
•	. 0,011.00
Libraries:	200.00
Libraries	300.00
Public Welfare:	
Old age assistance	2,574.38
Town poor	437.79
Patriotic Purposes:	
Memorial Day and Veterans'	
Associations	12.50
Recreation:	
Parks and playgrounds, including band concerts	85.95
Danu Concer to	00.00

Public Service Enterprises: Cemeteries, including hearse hire Total Payments	118.29	\$39,854.59
Unclassified: Damages and legal expenses	105.20	
Advertising and regional associations		
Taxes bought by town	1,618.40	
Payment to state a/c yield tax		
debt retirement	149.63	
Employees' retirement and		
social security	633.27	
Total Current Maintenance		
Expenses		\$2,495.30
Interest:		
Payment on temporary loan in		
anticipation of taxes	242.00	
Paid on long term notes	358.33	
Paid on principal of trust funds		
used by town	249.03	
	<u>-</u>	- \$849.36
Outlay for New Construction, Equipr	nent and	
Permanent Improvements:	A-1-1-0-0-A	
Atherton Bridge	\$1,423.86	
Butterfield Bridge	484.02	
Tar account	2,453.32	
London Hill Road Hudson Road	997.71 252.78	
Total Outlay Payments	494.18	\$5.611.60
Total Outlay Payments		\$5,611.69
Indebtedness:		
Payments on temporary loans in		
anticipation of taxes	\$16,000.00	
Payments on long term notes	3,000.00	
Payments to trustees of trust funds	40000	
(new funds)	100.00	01010000
Total Indebtedness Payments		\$19,100.00
Payments to Other Governments	al Divisions :	
State head taxes paid state treas.		
1958 taxes \$1,044.00)	2 122 5	
(prior yrs. \$1,392.95)	2,436.95	
Taxes paid to county	3,067.20	
Payments to precincts	496.28	
Payments to schools	40,774.17	

Total Payments to Other Governmental Divisions	\$46,774.60
Total Payments for all Purposes	\$114,685.54
Cash on hand Dec. 31, 1958	14,046.87
Grand Total DESCRIPTION	\$128,732.41
Town hall, lands and buildings	\$75,000.00
Libraries, lands and buildings	5,000.00
Police department, lands and buildings	50.00
Fire department, lands and buildings	24,000.00
Highway department, lands and buildings	3,000.00
Schools, lands and buildings	20,000.00
All lands and buildings, acquired through	
Tax Collector's deeds	4.000.00

On June 8, 1958 the Board of Selectmen received a letter from the Division of Municipal Accounting stating that in reviewing the financial report for 1957 that they had made changes in the assets and the liabilities on pages 2 and 3. This report before being printed last year was checked and found to be satisfactory to them. However, at the suggestion of Mr. Harold Fowler, the Head Accountant of this division, we are publishing in this report the two pages showing their corrections.

ASSETS

Cash:		,
In hands of treasurer	· *	\$12,769.15
Accounts Due to the Town:		
Railroad tax	* .	333.68
Unredeemed Taxes:		
(from tax sale on account of)		
Levy of 1956		987.07
Levy of 1955		205.26
Previous years—1954		52.54
Uncollected Taxes:		
Levy of 1957 poll \$222.00, yield \$977.10,		
property \$21,071.58		22,270.68
		•

Levy of 1956 poll \$6.00, yield \$240.61,	
property \$19.41	266.02
State head taxes—levy of 1957	715.00
State head taxes—previous year 1956	20.00
Total Assets	\$37,619.39
Excess of liabilities over assets (net debt)	2,857.28
Grand Total	\$40,476.67
Net debt—December 31, 1956	\$6,816.10
Net surplus—December 31, 1957	2,857.28
Decrease of debt	3,958.82
LIABILITIES	
Accounts Owed by the Town:	
World War II Memorial Fund \$31.49	9
Sewall Bridge appropriation 408.4	
Aldrich Bridge 250.00	
Reserve for fire truck 1,000.00	
State head taxes—1957 (uncollected \$715.00)	,
(Collected—not remitted to	
state treas. \$845.00) 1,560.00)
Yield tax—bond & debt retirement	
(uncollected \$202.96) (Collected—not	
remitted to state treas. \$149.64) 352.60)
Due to school districts: balance of	
appropriation 30,274.17	7
Long Term Notes Outstanding:	
River Road note 3,600.00)
Sewell Bridge note 3,000.00)
Total Liabilities —————	\$40,476.67

\$40,476.67

Grand Total

REPORT OF TOWN CLERK

For the year ending December 31, 1958

Total number of Automobile Permits issued from January 1, 1958 through December 31, 1958:

1957-1958 15 1958 517	\$27.73 3,680.30
Total paid treasurer	\$3,708.03
Dog licenses:	
127 males and spayed females @ \$2.00	\$254.00
20 females @ \$5.00	100.00
3 kennel licenses @ \$12.00	36.00
Penalties collected	17.00
Total collected	\$407.00
Retained as clerk's fees	30.00
Total paid treasurer	\$377.00
Filing Fees—Town Meeting	\$19.00
Filing Fees—Primary	8.00
Total paid treasurer	\$27.00

FENN B. NEWELL,
Town Clerk

REPORT OF TAX COLLECTOR

SUMMARY OF WARRANT

Property, Poll and Yield Taxes Levy of 1957

DR.

Uncollected taxes as of January 1, 19	58:	
Property taxes	\$21,071.58	
Poll taxes	222.00	
Penalties on polls	20.80	
Timber taxes—1957 levy	977.10	
Timber taxes—1956 levy collected	200.53	•
Added property taxes	9.90	
Added poll taxes	22.00	
Interest collected during fiscal year		
ended December 31, 1958	504.72	
Total debits		\$23,028.63
CR.		
Remittances to treasurer during fisca	.1	
year ended December 31, 1958		
Property taxes	\$19,295.03	
Interest collected	446.90	
Poll taxes	206.00	
Penalties on polls	20.80	
Yield taxes collected, including 1956	765.85	
Tax sale	1,526.08	
Interest on tax sale	57.82	
Abatements:		
Property	137.28	
Polls	38.00	
		\$22,493.76
Uncollected taxes as per collector's lis		
Property	\$123.09	
Polls		

\$534.87

Total credits

\$23,028.63

SUMMARY OF WARRANT

Property, Poll and Yield Taxes Levy of 1958

	DR.		
Taxes committed to collecte	r:		
Property taxes		\$79,758.43	
Village district taxes		793.90	
Poll taxes		6 80.00	
National Bank stock tax		20.00	
Total warrant			\$81,252.33
Yield taxes			1,050.85
Added Taxes:			
Property			86.31
Polls			6.00
Interest collected			10.13
Penalties collected			2.40
Total debits			\$82,408.02
	CR.		
Danittaness to tuccament			

	CR.
Remittances to treasurer:	
Property taxes	\$53,525.10
Village district taxes	496.28
Poll taxes	436.00
Penalties on polls	2.40
National Bank stock tax	20.00
Interest collected	10.13
Yield taxes	0.00
Abatements:	
Property taxes	337.78
Village district taxes	13.27
Poll taxes	26.00
Uncollected taxes as per col	llector's list:
Property taxes	25,981.86
Village district taxes	284.35

Poll taxes Yield taxes Total Credits

224.00 1,050.85

- \$82,408.02

SUMMARY OF WARRANT

State Head Tax Levy of 1957

DR.

Uncollected taxes as of Jan. 1, 1958 \$715.00 Added taxes 55.00 Penalties collected 66.00

\$836.00

CR.

Remittances to treasurer 1958:

Head taxes \$650.00
Penalties 66.00
Abatements:

In 1958
In 1957 omitted in error

115.00 5.00

\$836.00

SUMMARY OF WARRANT

State Head Tax Levy of 1958 DR.

Original warrant \$2,100.00 Added taxes 25.00

Total commitment \$2,125.00
Penalties collected \$8.00

\$2,133.00

CR.

Remittances to treasurer:

Head taxes \$1,380.00 Penalties \$.00

\$1,388.00

\$2,133.00

SUMMARY OF TAX SALES ACCOUNT As of December 31, 1958 DR.

Tax sales on account of levy Taxes sold to town during	of 1957	1956	1955
current fiscal year	\$1,622.15		
Balance of unredeemed taxe	es		
January 1, 1958		\$987.07	\$195.48
Interest collected after sale	21.38	19.46	10.08
Redemption costs	3.00	2.00	0.00
	\$1,646.5 3	\$1,008.53	\$205.56
	CR.		
Remittances to treasurer	\$876.71	\$328.19	\$81.67
Unredeemed taxes	769.32	680.32	123.89
	\$1,646.03	\$1,008.51	\$205.56
Errors in addition — not	φ1,040.00	φ1,000.51	φ400.00
included in remittances	. 50	.02	
Duran sutus dus de dita terran	\$1,646.53	\$1,008.53	

Property deeded to town:
Edgar French estate property
Perley Lund property

FENN B. NEWELL,
Collector

1958 UNCOLLECTED POLL TAXES

J. Kirk Aldrich	Frank H. Mills
Frances G. Aldrich	Margaret Mills
Charles Apgar	William Morrill
Isabel Apgar	Barbara Morrill

Earl Brennan Arthur H. Chickering Elizabeth Chickering Wilfred Daniel Norma Daniel Helen Draycott Eva Fales Clifford Fales Sylvia Fancher William Fancher Ernest W. Fancher Rufus Fred Field Eva Field Lena Fontaine Ida M. Forbes Charlotte Frazier Hazel F. Fredette Virginia French Gerald Fernette Bertha Fernette Norman Frink Marjorie Frink Marion Gagner Barbara C. Hatt John Heinenen Edward Kingsbury Ellen Kingsbury Clarence Kingsbury Opal F. Kingsbury Clara Larson Robert H. Lee Leona R. Lee Daniel Lee Carmella Lee Edna Martin Clayton Maylin

Dorothy Maylin

Doris Nickerson Erdmann Needham Lila Needham William O'Brien Fav M. O'Brien Marion Overman Lawrence Parker Edith Parker Endell Parker Marion Perham Eleanor Perham Donald B. Provencher Doris Provencher Ernest Pelkev Dorothy R. Rhodes Richard D. Rhodes Aurelia Russell Florence Sanderson William Stacey Leola Stacev Charles I. Staples Bertha A. Staples Norman A. Stetson Wynona A. Stetson Arthur Storev Jeannette Storev Alan W. Thompson Joyce B. Thompson Pauline H. Thompson Allan S. Thorne Sylvia A. Thorne Laura F. Timpano Norman Wilber Lvdia Waters Lillian White Lorraine Whitten

TREASURER'S REPORT

January 1, 1958 to December 31, 1958

Received of Fenn B. Newell, Tax Collector:
1957 Poll tax and penalties \$226.80
1958 Poll tax and penalties 438.40
1957 Head tax and penalties 716.00
1958 Head tax and penalties 1,388.00
1956 Yield tax 200.53
1957 Yield tax 565.32
1956 Interest 13.13
1957 Property tax 20,821.11
1957 Property tax interest 481.46
1958 Property tax 54,021.38
1958 Property tax interest 10.13
1955 Redemptions, interest and costs 81.67
1956 Redemptions, interest and costs 328.19
1957 Redemptions, interest and costs 876.71
1958 National Bank stock tax 20.00
Received of Fenn B. Newell, Town Clerk:
1957 Auto permits \$27.73
1958 Auto permits 3,680.30
1958 Dog licenses and penalties 377.00
1958 Filing fees 27.00
Received of State Treasurer:
1957 Railroad tax 333.68
Refund one head tax (1957) 5.00
1958 Savings Bank tax 299.93
1958 Interest and dividends tax 3,347.87
1958 Maintenance of Class V Highways (gas tax) 265.69
1958 Reimbursement—Expense 1958 head tax 12.73
1958 Reimbursement—State forest reserve land 1.66
Forestry and Recreation Dept. (½ forest fire bill) 5.48
Forestry and Recreation Dept. (fire training) 8.18
Forestry and Recreation Dept. (reimbursement
on white pine blister rust) .15

Received of Cheshire National Bank: Borrowed in anticipation of taxes Long term note (fire truck) Received of Trustee of Trust Funds:	16,000.00 8,000.00
Starkey gift fund interest (1957)	249.03
Received—Cemetery Trust Funds: Mrs. George H. Joslin (Keith lot) Received of Village Precinct:	100.00
Cost share of fire truck	2,973.00
Received of Town of Chesterfield: 1/2 cost of town line signs	27.00
Received of Carl and Thelma Messer: Use of town grader Received of Aldis Cushing:	15.00
Reimbursement on wood for Mae Cushing	18.00
	\$115,963.26
Balance in Treasury January 1, 1958	12,769.15
and the second second	\$128,732.41
DAVIMENTO	
PAYMENTS Trustee of Trust Funds	\$100.00
Cheshire National Bank (short term note—	
prin. and interest)	16,242.00
Cheshire National Bank (long term notes—prin. and interest)	1,232.33
Vermont Peoples National Bank (long term note	
prin. and interest)	2,126.00
J. Eugene Felch (county tax)	3,067.20 $30,274.17$
School Treasurer (1957-58 appropriation) School Treasurer (1958-59 appropriation)	10,500.00
Treasurer—Westmoreland Village Precinct	496.28
All other selectmen's orders	50,647.56
Mark the second of the second	\$114,685.54
Balance in Treasury—December 31, 1958	14,046.87
	\$128,732.41

MARJORIE A. HUDSON

Treasurer

REPORT OF ROAD AGENTS

CHARLES W. MESSER

SNOW ACCOUNT—1958

January	
Charles Messer, 107 hrs. @ \$1.25	\$133.75
Charles Messer, 102 hrs. @ \$2.00	204.00
Charles Messer, gas and oil, grader	7.25
Glenn Britton, 72 hrs. @ \$1.00	72.00
Elwin Messer, 18 hrs. @ \$1.00	18.00
	\$435.00
February	
Charles Messer, 101 hrs. @ \$1.50	\$151.50
Charles Messer, 101 hrs. @ \$2.00	202.00
Glenn Britton, 63 hrs. @ \$1.00	63.00
Elwin Messer, 11 hrs. @ \$1.00	11.00
Edwin King, 3 hrs. @ \$1.50	4.50
Edwin King, 3 hrs. @ \$2.00	6.00
Alonzo Hudson, 6 hrs. @ \$3.50	21.00
Charles Adams, 10 hrs. @ \$3.50	35.00
	\$494.00
March	\$494.00
March Charles Messer, 26 hrs. @ \$1.25	\$494.00 \$32.50
	·
Charles Messer, 26 hrs. @ \$1.25	\$32.50
Charles Messer, 26 hrs. @ \$1.25 Charles Messer, 16 hrs. @ \$2.00	\$32.50 32.00
Charles Messer, 26 hrs. @ \$1.25 Charles Messer, 16 hrs. @ \$2.00 Leon McClenning, gas and oil, grader	\$32.50 32.00 3.74
Charles Messer, 26 hrs. @ \$1.25 Charles Messer, 16 hrs. @ \$2.00 Leon McClenning, gas and oil, grader Glenn Britton, 7 hrs. @ \$1.00	\$32.50 32.00 3.74 7.00
Charles Messer, 26 hrs. @ \$1.25 Charles Messer, 16 hrs. @ \$2.00 Leon McClenning, gas and oil, grader Glenn Britton, 7 hrs. @ \$1.00	\$32.50 32.00 3.74 7.00 2.00
Charles Messer, 26 hrs. @ \$1.25 Charles Messer, 16 hrs. @ \$2.00 Leon McClenning, gas and oil, grader Glenn Britton, 7 hrs. @ \$1.00 Elwin Messer, 2 hrs. @ \$1.00	\$32.50 32.00 3.74 7.00 2.00
Charles Messer, 26 hrs. @ \$1.25 Charles Messer, 16 hrs. @ \$2.00 Leon McClenning, gas and oil, grader Glenn Britton, 7 hrs. @ \$1.00 Elwin Messer, 2 hrs. @ \$1.00	\$32.50 32.00 3.74 7.00 2.00 \$77.24
Charles Messer, 26 hrs. @ \$1.25 Charles Messer, 16 hrs. @ \$2.00 Leon McClenning, gas and oil, grader Glenn Britton, 7 hrs. @ \$1.00 Elwin Messer, 2 hrs. @ \$1.00 Maintenance Work Charles Messer, 42 hrs. @ \$2.00	\$32.50 32.00 3.74 7.00 2.00 \$77.24
Charles Messer, 26 hrs. @ \$1.25 Charles Messer, 16 hrs. @ \$2.00 Leon McClenning, gas and oil, grader Glenn Britton, 7 hrs. @ \$1.00 Elwin Messer, 2 hrs. @ \$1.00 Maintenance Work Charles Messer, 42 hrs. @ \$2.00 Charles Messer, 42 hrs. @ \$1.25	\$32.50 32.00 3.74 7.00 2.00

Paul King, 5 hrs. @ \$1.00	5.00
Glenn Britton, 5 hrs. @ \$1.00	5.00
Elwin Messer, 8 hrs. @ \$1.00	8.00
Homer Seward 60 yds. gravel	6.00
Lawrence Russell, 60 yds. gravel	6.00
	\$246.15
Work on Town Grader	
Charles Messer, 48 hrs. @ \$1.25	\$60.00
Maintenance Work	
Charles Messer, 32 hrs. @ \$1.25	\$40.00
Charles Messer, 12 hrs. @ \$2.00	24.00
Charles Messer, gas and oil, grader	6.75
Glenn Britton, 4 hrs. @ \$1.00	4.00
Edwin King, 21 hrs. @ \$1.25	26.25
Edwin King, 13 hrs. @ \$2.00	26.00
Paul King, 11 hrs. @ \$1.00	11.00
Theron Christian, 90 yds. gravel	9.00
	\$157.00
Maintenance	
Charles Messer, 48 hrs. @ \$1.25	\$60.00
Charles Messer, 35 hrs. @ \$2.00	70.00
Edwin King, 9 hrs. @ \$1.25	11.25
Edwin King, 9 hrs. @ \$2.00	18.00
Paul King, 7 hrs. @ \$1.00	7.00
Frank Hubner, 5½ hrs. @ \$11.00	60.50
Arthur Hatt, 8 hrs. @ \$1.00	8.00
Neal Shelley, 3 hrs. @ \$1.00	3.00
Richard Rhodes, 3 hrs. @ \$1.00	3.00
Leon McClenning, 3 hrs. @ \$3.25	9.75
Theron Christian, 100 yds. gravel	10.00
	\$260.50
Maintenance	
Charles Messer, 43 hrs. @ \$1.25	\$53.75
Charles Messer, 29 hrs. @ \$2.00	58.00
Charles Messer, gas and oil, grader	7.70
Richard Rhodes, 30 hrs. @ \$1.00	30.00
Frank Hubner, 10 hrs. @ \$7.00	70.00
Edwin King, 17 hrs. @ \$1.00	17.00

Paul King, 10 hrs. @ \$1.00	10.00
Homer Seward, 15 yds. gravel	1.50
Theron Christian, 4 hrs. @ \$1.00	4.00
Theron Christian, 70 yds. gravel	7.00
	\$258.95
Maintenance	400 ==
Charles Messer, 27 hrs. @ \$1.25	\$33.75
Charles Messer, 27 hrs. @ \$2.00	54.00
	\$87.75
Maintenance	
Charles Messer, 24 hrs. @ \$1.25	\$30.00
Charles Messer, 16 hrs. @ \$2.00	32.00
Edwin King, 11 hrs. @ \$2.00	22.00
Edwin King, 16 hrs. @ \$1.25	20.00
Richard Rhodes, 24 hrs. @ \$1.00	24.00
Arthur Hatt, 14 hrs. @ \$1.00	14.00
Toming London Dood	\$142.00
Tarring London Road Charles Messer, 15 hrs. @ \$2.00	\$30.00
Charles Messer, 15 hrs. @ \$2.00 Charles Messer, 15 hrs. @ \$1.25	950.00 18.75
Richard Rhodes, 15 hrs. @ \$1.25	15.00
Arthur Hatt, 15 hrs. @ \$1.00	15.00
Paul King, 9 hrs. @ \$1.00	9.00
Bill from State	61.00
Bill from Tar Co.	455.05
Bill from far Co.	455.05
	\$603.80
King had a bill of	354.76
	\$958.56
Tarring London Road	
Charles Messer, tar patch	\$21.78
Charles Messer, trucking patch	6.00
Charles Messer, 4 hrs. @ \$1.25	5.00
Edwin King, 4 hrs. @ \$1.25	5.00
Richard Rhodes, 3 hrs. @ \$1.00	3.00
	\$40.78

Maintenance Charles Messer, 30 hrs. @ \$2.00 Charles Messer, 30 hrs. @ \$1.25	\$ 60. 00 37.50
Richard Rhodes, 16 hrs. @ \$1.00	16.00
	\$113.50
Maintenance	**
Charles Messer, 24 hrs. @ \$2.00	\$48.00 20.00
Charles Messer, 16 hrs. @ \$1.25 Frank Hubner, 3 hrs. @ \$7.00	20.00 21.00
Edwin King, 3 hrs. @ \$1.25	$\frac{21.00}{3.75}$
Paul King, 3 hrs. @ \$1.00	3.00
Richard Rhodes, 8 hrs. @ \$1.00	8.00
μ	
	\$103.75
Town Paid \$150.90 Culverts	
SNOW BILL	
December	
Charles Messer, 33 hrs. @ \$1.25	\$41.25
Charles Messer, 18 hrs. @ \$2.00	36. 00
Edwin King, 4 hrs. @ \$2.00	8.00
Edwin King, 4 hrs. @ \$1.25	5.00
Paul King, 4 hrs. @ \$1.00	4.00
Richard Rhodes, 20 hrs. @ \$1.00	20.00
Wesley Staples, 3 hrs. @ \$7.50	22.50
Elwin Messer, 4 hrs. @ \$1.00	4.00
	\$140.75
SNOW BILL	
Charles Messer, 101 hrs. @ \$1.25	\$126.25
Charles Messer, 93 hrs. @ \$2.00	186.00
Richard Rhodes, 50 hrs. @ \$1.00	50.00
Elwin Messer, 12 hrs. @ \$1.00	12.00
Theron Christian, 200 yds. sand	20.00
	\$394.25
EDWIN H. KING	
WINTER—1958	
January	
Edwin King, 117 hrs. @ \$1.25	\$146.25

Edwin King, 109 hrs. @ \$2.00	218.00
Alonzo Hudson, 37 hrs. @ \$1.25	46.25
Alonzo Hudson, 37 hrs. @ \$2.00	74.00
J. K. Aldrich, 10 hrs. @ \$1.25	12.50
J. K. Aldrich, 10 hrs. @ \$2.00	20.00
Charles Messer, 4 hrs. @ \$1.25	5.00
Charles Messer, 4 hrs. @ \$2.00	8.00
Glenn Britton, 4 hrs. @ \$1.00	4.00
Paul King, 55 hrs. @ \$1.00	55.00
Edwin King, bridge rail and grader	30.00
Lawin King, bridge ran and grader	30.00
	\$619.00
February	
Edwin King, 173 hrs. @ \$1.25	\$216.25
Edwin King, 94 hrs. @ \$2.25	211.50
Charles Messer, 9 hrs. @ \$1.25	11.25
Charles Messer, 9 hrs. @ \$2.25	20.25
Alonzo Hudson, 27 hrs. @ \$1.25	33.75
Alonzo Hudson, 27 hrs. @ \$2.25	60.75
J. K. Aldrich, 8 hrs. @ \$1.25	10.00
J. K. Aldrich, 8 hrs. @ \$2.25	18.00
Paul King, 93 hrs. @ \$1.00	93.00
Edwin King, gas, oil and grader	33.79
	\$708.54
March	φ100.01
Edwin King, 9 hrs. @ \$1.25	\$11.25
Edwin King, 9 hrs. @ \$2.25	20.25
Edwin King, loader	20.00
Alonzo Hudson, 2 hrs. @ \$1.25	2.50
Alonzo Hudson, 2 hrs. @ \$2.25	4.50
 ,	\$58.50
November	40= 50
Edwin King, 30 hrs. @ \$1.25	\$37.50
Edwin King, 26 hrs. @ \$2.25	58.50
Paul King, 24 hrs. @ \$1.00	24.00
Edward Andrews, 5 hrs. @ \$1.00	5.00
Edwin King, sand screen	35.00
Alonzo Hudson, 7 hrs. @ \$1.25	8.75
Alonzo Hudson, 7 hrs. @ \$2.25	15.75

	\$184.50
December	
Edwin King, 71 hrs. @ \$1.25	\$88.75
Edwin King, 71 hrs. @ \$2.25	159.75
Alonzo Hudson, 6 hrs. @ \$1.25	7.50
Alonzo Hudson, 6 hrs. @ \$2.25	13.50
Paul King, 45 hrs. @ \$1.00	45.00
Theron Christian, 100 yds. of gravel	10.00
	\$324.50
SUMMER	
March	
Edwin King, 16 hrs. @ \$1.25	\$20.00
Edwin King, 16 hrs. @ \$2.00	32.00
Edwin King, cold patch	13.31
Paul King, 16 hrs. @ \$1.00	16.00
	\$81.31
April	
Edwin King, 60 hrs. @ \$1.25	\$75.00
Edwin King, 43 hrs. @ \$2.00	86.00
Charles Messer, 16 hrs. @ \$1.25	20.00
Charles Messer, 16 hrs. @ \$2.00	32.00
Paul King, 24 hrs. @ \$1.00	24.00
	\$237.00
May	
Edwin King, 84 hrs. @ \$1.25	\$105.00
Edwin King, 32 hrs. @ \$2.00	64.00
Charles Messer, 46 hrs. @ \$1.25	57.50
Charles Messer, 8 hrs. @ \$2.00	16. 00
Paul King, 84 hrs. @ \$1.00	84.00
Edwin King, gas and oil for grader	30.68
	\$357.18
June	
Edwin King, 86 hrs. @ \$1.25	\$107.50
Edwin King, 62 hrs. @ \$2.00	124.00
Charles Messer, 38 hrs. @ \$1.25	47.50
Charles Messer, 30 hrs. @ \$2.00	60.00

Leon McClenning, 8 hrs. @ \$1.25 Leon McClenning, 8 hrs. @ \$2.00 Paul King, 32 hrs. @ \$1.00	10.00 16.00 32.00
Homer Seward, 150 yds. of gravel	15.00
Edwin King, loader	15.00
Frank Hubner, 4 hrs. @ \$11.00	44.00
T1	\$471.00
July	\$30.00
Edwin King, 24 hrs. @ \$1.25 Edwin King, 8 hrs. @ \$2.00	16.00
Charles Messer, 24 hrs. @ \$1.25	30.00
Charles Messer, 8 hrs. @ \$1.25 Charles Messer, 8 hrs. @ \$2.00	1 6. 00
Paul King, 24 hrs. @ \$1.00	24.00
Frank Hubner, 6 hrs. @ \$7.00	42.00
Edwin King, gas for grader	6. 80
	\$164.80
September	φ101.00
Edwin King, 32 hrs. @\$1.25	\$40.00
Edwin King, 10 hrs. @\$2.00	20.00
Charles Messer, 16 hrs. @ \$1.25	20.00
Charles Messer, 16 hrs. @ \$2.00	32.00
Arthur Hatt, 10 hrs. @ \$1.00	10.00
	\$122.00
October	
Edwin King, 16 hrs. @ \$1.25	\$20.00
Edwin King, 8 hrs. @ \$2.00	16. 00
Richard Rhodes, 10 hrs. @ \$1.00	10.00
Arthur Hatt, 10 hrs. @ \$1.00	10.00
Paul King, 8 hrs. @ \$1.00	8.00
	\$64. 00
November	
Edwin King, 53 hrs. @ \$1.25	\$66.25
Edwin King, 37 hrs. @ \$2.00	74.00
Charles Messer, 57 hrs. @ \$1.25	71.25
Charles Messer, 41 hrs. @ \$2.00	82.00
Richard Rhodes, 41 hrs. @ \$1.25	51.25
Paul King, 62 hrs. @ \$1.00	62. 00

Frank Hubner, 2 hrs. @ \$7.00	14.00
Homer Seward, 250 yds. gravel	25.00
Earl Osborn, 150 yds. gravel	15.00
Edwin King, loader	37.50
Edwin King, gas and oil for grader	21.80
	\$520.05
Hudson Road — August	
Edwin King, 22 hrs. @ \$1.25	\$27.50
Edwin King, 16 hrs. @ \$2.00	32.00
Charles Messer, 22 hrs. @ \$1.25	27.50
Charles Messer, 10 hrs. @ \$2.00	20.00
Frank Hubner, bulldozing	81.50
Paul King, 24 hrs. @ \$1.00	24.00
Edwin King, loader	22.50
Edwin King, gas for grader	4.56
Homer Seward, 150 yds. gravel	15.00
	\$254.56
London Hill — August	
Edwin King, 36 hrs. @ \$1.25	\$45.00
Edwin King, 30 hrs. @ \$2.00	60.00
Charles Messer, 36 hrs. @ \$1.25	45.00
Charles Messer, 30 hrs. @ \$2.00	60.00
Richard Rhodes, 30 hrs. @ \$1.25	37.50
Paul King, 30 hrs. @ \$1.00	30.00
Edwin King, loader	45.00
Edwin King, gas for grader	8.40
Homer Seward, 300 yds. gravel	30.00
•	\$360.90
Tarring — June	
Edwin King, 16 hrs. @ \$1.25	\$20.00
Edwin King, 16 hrs. @ \$2.00	32.00
Charles Messer, 20 hrs. @ \$1.25	25.00
Charles Messer, 20 hrs. @ \$2.00	40.00
Leon McClenning, 16 hrs. @ \$1.25	20.00
Leon McClenning, 16 hrs. @ \$2.00	32.00
Richard Rhodes, 20 hrs. @ \$1.25	25.00
Gale Shelley, 16 hrs. @ \$1.25	20.00
Paul King, 16 hrs. @ \$1.00	16.00

Arthur Hatt, 4 hrs. @ \$1.25	5.00
Theron Christian, 200 yds. gravel	$20.00 \\ 12.50$
Edwin King, 10 hrs. @ \$1.25 Edwin King, 10 hrs. @ \$2.00	20.00
Charles Messer, 10 hrs. @ \$1.25	12.50
Charles Messer, 10 hrs. @ \$2.00	20.00
Edwin King, loader	30.00
	\$350.00
LEON McCLENNING	
WINTER—1958	
January	
Leon McClenning, truck 66 hrs. @ \$2.00	\$132.00
Leon McClenning, labor 66 hrs. @ \$1.25	82.50
William McClenning, labor 66 hrs. @ \$1.00	66. 00
Charlie Davidson, labor 7 hrs. @ \$1.00	7.00
Ronald Kenyon, labor 2 hrs. @ \$1.00	2.00
	\$289.50
February	@ 1 00.00
Leon McClenning, truck 65 hrs. @ \$2.00	\$130.00
Leon McClenning, labor 65 hrs. @ \$1.50 William McClenning, labor 65 hrs. @ \$1.00	97.50 65.00
Charlie Davidson, labor 6 hrs. @ \$1.00	6. 00
Charne Davidson, labor oms. @ \$1.00	0.00
March	\$298.50
Leon McClenning, truck 3 hrs. @ \$2.00	\$6. 00
Leon McClenning, track 5 hrs. @ \$2.00 Leon McClenning, labor 16 hrs. @ \$1.25	20.00
Leon McClenning, gas and oil	5.05
William McClenning, 8 hrs. @ \$1.00	8.00
Raymond Aldrich, 2 hrs. @ \$3.50	7.00
December	\$46.05
Leon McClenning, truck 51 hrs. @ \$2.00	\$102.00
Leon McClenning, labor 64 hrs. @ \$1.25	80.00
Leon McClenning, shoveling sand, 210 yds. @ \$.1	
Leon McClenning, gas, 25 gal. @ \$.28	7.00

William McClenning, labor 44 hrs. @ \$1.00	44.00
Raymond Aldrich, labor 6 hrs. @ \$1.00	6. 00
Charlie Messer, truck 3 hrs. @ \$2.00	6. 00
Charlie Messer, labor 3 hrs. @ \$1.25	3.75
Ernest Wright, gravel 210 yds. @ \$.10	21.00
	\$290.75
DIRT—1958 March	
Leon McClenning, truck 6 hrs. @ \$2.00	\$12.00
Leon McClenning, labor 17 hrs. @ \$1.25	21.25
Leon McClenning, gas and oil	5.72
Starr Greeley, 13 hrs. @ \$1.00	13.00
William McClenning, 5 hrs. @ \$1.00	5.00
Laurence Russell, 15 yds. gravel @ \$.10	1.50
	\$58.47
April—Dirt	φυυ.41
Leon McClenning, truck 3 hrs. @ \$2.00	\$6. 00
Leon McClenning, labor 46 hrs. @ \$1.25	57.50
Leon McClenning, gas and oil	12.16
	8.00
Starr Greeley, 8 hrs. @ \$1.00	8.00
	\$83.66
Dirt	
May - June 6, 1958	
Leon McClenning, truck 4 hrs. @ \$2.00	\$8.00
Leon McClenning, labor 24 hrs. @ \$1.25	30.00
Leon McClenning, gas, 10 gal. @ \$.28	2.80
Starr Greeley, labor 16 hrs. @ \$1.00	16. 00
Charlie Davidson, labor 4 hrs. @ \$1.00	4.00
	\$60.80
June—Dirt	
Leon McClenning, truck 4 hrs. @ \$2.00	\$8.00
Leon McClenning, labor 35 hrs. @ \$1.25	43.75
Leon McClenning, gas, 40 gal. @ \$.28	11.20
Starr Greeley, labor 49½ hrs. @ \$1.00	49.50
	\$102.45
October—Dirt	
Leon McClenning, truck 36 hrs. @ \$2.00	\$72.00

Leon McClenning, labor 68 hrs. @ \$1,25	85.00
Leon McClenning, shovel 210 yds. gravel @ \$.10	21.00
Leon McClenning, gas, 53 gal. @ \$.28	14.84
Starr Greeley, labor 78 hrs. @ \$1.00	78.00
William McClenning, 2 hrs. @ \$1.00	2.00
Charlie Davidson, 2 hrs. @ \$1.00	2.00
Lloyd Kenyon, moving road sides	85.00
Ernest Wright, 210 yds. gravel @ \$.10	21.00
_	\$380.84
November - December 5	φουσιστ
Dirt and Tar	
Leon McClenning, truck 60 hrs. @ \$2.00	\$120.00
Leon McClenning, labor 66 hrs. @ \$1.25	82.50
Leon McClenning, shoveling gravel 300 yds. @ \$.10	
Leon McClenning, gas, 5 gal. @ \$.28	1.40
William McClenning, 27 hrs. @ \$1.00	27.00
Charlie Davidson, 10 hrs. @ \$1.00	10.00
Starr Greeley, 36 hrs. @ \$1.00	36. 00
Harrison Flagg, 10 hrs. @ \$1.00	10.00
Ernest Wright, 300 yds. gravel @ \$.10	30.00
	\$346.90
1958 September - October 2	
Atherton Bridge	
Leon McClenning, labor 28 hrs. @ \$1.25	\$35.00
Leon McClenning, cement \$31.00 — gas \$2.80	33.80
William McClenning, labor 22 hrs. @ \$1.00	22.00
Charlie Davidson, labor 2 hrs. @ \$1.00	2.00
Harrison Flagg, labor 16 hrs. @ \$1.00	16.00
Starr Greeley, labor 25 hrs. @ \$1.00	25.00
Townson or a second or a secon	\$133.80
Butterfield Bridge	
October	
Leon McClenning, labor 17 hrs. @ \$1.25	\$21.25
Raymond Aldrich, iron	27.00
Starr Greeley, 17 hrs. @ \$1.00	17.00
William McClenning, 16 hrs. @ \$1.00	16. 00
Leon McClenning, paint	3.00
	\$84.25

Tar Road—1958	
April Leon McClenning, truck 8 hrs. @ \$2.00	\$16. 00
Leon McClenning, labor 30 hrs. @ \$2.00	37.50
Starr Greeley, labor 24 hrs. @ \$1.00	24.00
Raymond Aldrich, labor 14 hrs. @ \$1.00	14.00
isayinona manan, iason 14 ms. @ \$1.00	14.00
75	\$91.50
May - June 4	@90 .00
Leon McClenning, truck 16 hrs. @ \$2.00	\$32.00
Leon McClenning, labor 56 hrs. @ \$1.25	70.00
Starr Greeley, labor 136 hrs. @ \$1.00	136.00
,	\$238.00
June - July 3	
Tarring Road	
Leon McClenning, truck 38 hrs. @ \$2.00	\$76.00
Leon McClenning, labor 52 hrs. @ \$1.25	65.00
Leon McClenning, 5 gal. gas @ \$.28	1.40
Starr Greeley, labor 29 hrs. @ \$1.00	29.00
Edwin King, truck 18 hrs. @ \$2.00	36.00
Edwin King, labor 22 hrs. @ \$1.25	27.50
Charlie Messer, truck 12 hrs. @ \$2.00	24.00
Charlie Messer, labor 10 hrs. @ \$1.25	12.50
Richard Rhodes, labor 4 hrs. @ \$1.25	5.00
Arthur Hatt, labor 4 hrs. @ \$1.25	5.00
Gale Shelley, labor 4 hrs. @ \$1.25	5.00
Paul King, labor 12 hrs. @ \$1.00	12.00
Raymond Aldrich, labor 8 hrs. @ \$1.00	8.00
	\$286.40
July - August 2	
Tarring Road	
Leon McClenning, truck 53 hrs. @ \$2.00	\$106.00
Leon McClenning, labor 70 hrs. @ \$1.25	87.50
Leon McClenning, gas, 53 gal. @ \$.28	14.84
Edwin King, truck 36 hrs. @ \$2.00	72.00
Edwin King, labor 36 hrs. @ \$1.25	45.00
Edwin King, tractor	60.00
Charlie Messer, truck 36 hrs. @ \$2.00	72.00
Charlie Messer, labor 36 hrs. @ \$1.25	45.00

CL C 1 F01 O 01 00	EQ.00
Starr Greeley, 52 hrs. @ \$1.00	52.00
Paul King, 35 hrs. @ \$1.00	35.00
Gale Shelley, 37 hrs. @ \$1.25	46.25
Arthur Hatt, 25 hrs. @ \$1.25	31.25
Richard Rhodes, 35 hrs. @ \$1.25	43.75
William McClenning, 12 hrs. @ \$1.25	15.00
Harrison Flagg, 12 hrs. @ \$1.00	12.00
	\$737.59
Charlie Davidson, 3 hrs. @ \$1.00	3.00
Ernest Wright, gravel 56 yds. @ \$.10	56.00
	\$59.00
	737.59
	\$796.59
Town Dump—1958	4,00,00
May 13	
Leon McClenning, truck 6 hrs. @ \$2.00	\$12.00
Leon McClenning, labor 6 hrs. @ \$1.25	7.50
Starr Greeley, labor 6 hrs. @ \$1.00	6.00
	\$25.50

STATEMENT OF FUND EXPENDITURES

For the Year Ending December 31, 1958

Lucy Thompson, library treasurer, Lord Fund	
interest	\$65.53
Hugh A. Shelley, work in Chaffee and Edson	
Cemeteries	16.75
East Westmoreland Cemetery Association	
upkeep of lots	76. 00
Helen Cousins, Briggs Christmas Fund	
Interest	32.76
Thornton H. Paine, work in Gline and Works	
Cemeteries	15.00
Marjorie Hudson, school treasurer	120.02
Lucy Thompson, library treasurer	81.90
Town of Westmoreland, Starkey Gift Fund	
interest	249.03
Union Meeting House Society	19.66
Merton C. Leach, care of lots in Pratt Cemetery	9.00
Linwood L. Burt, care of lots in Village Cemetery	111.00
Raymond H. Aldrich, care of lots in North Cemetery	40.00
	\$996.65

\$836.65

GEORGE W. ALDRICH,
Treasurer of Trustees

REPORT OF TRUST FUNDS

For Fiscal Year Ending December 31, 1958

This is to certify that the information contained in this report is complete and correct to the best of our knowledge and belief.

HUGH A. SHELLEY MAUDE E. MESSER GEORGE W. ALDRICH

REPORT OF THE TRUST FUNDS OF WESTMORELAND, N. H., DECEMBER 31, 1958

Balance of Income on Hand at End of Year	\$65.53	53.93	23.33	43.61	16.27	32.76	68.37	3.05	14.23	2.18	7.62	6.74	3.61	17.38	9.46	1.86	1.82	9.34
Expended During Year	\$65.53		4.50					1.50										
Income During Year	\$65.53	9.82	3.27	4.32	6.55	32.76	65.53	3.27	3.27	3.27	3.27	3.27	3.27	6.55	3.27	1.63	3.27	4.91
Rate of Interest	3,1/4	2 2 2	÷		\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	2 6		2 2 2	* *	: :		4 6		2 8	-	2 '2		2 2
Balance of Income on Hand at Beginning of Year	\$65.53	56.11	24.06	43.56	27.66	32.76"	64.82	14.21	14.96	2.41	7.85	6.95	3.34	17.83	1.97	1.73	4.98	8.93
Amt. of Principal Beginning Year	\$2,000.00 1,000.00 1,772.67	300.00	100.00	200.00	200.00	1,000.00	2,000.00	100.00	100.00	100.00	100.00	100.00	100.00	200.00	100.00	50.00	100.00	150.00
HOW INVESTED	Walpole Savings Bank	Keene Savings Bank	Wajpole Savings Bank	Keene Savings Bank Walpole Savings Bank	Keene Savings Bank	11	Keene Savings Bank		,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,,	Neclic Savings Dails	1 23 23	Walpole Savings Bank Keene Savings Bank	Walpole Savings Bank		Walpole Savings Bank		66 66	
TRUST FUNDS — PURPOSE OF CREATION	Jotham Lord, as Town may vote Elephalet Fox, fund for Schools Town Literary fund for Schools Harry Fetsen for de Schools	Charlotte West fund for Cemetery Lot Lucy E. Stratton fund for Cemetery Lot Marin A. Centrol fund for Cemetery Lot	Frank A. Ware fund for Cemetery Lot Frank A. Ware fund for Cemetery Lot Frank T. Cole fund for Outlying Cemeteries	Julia A. Britton fund for Cemetery Lot Willard Gline fund for Gline Cemetery	Lucia M. Hunt fund for Cemetery Lot Emily Estey fund for Cemetery Lot Teming F. Shelly fund for Cemetery Lot	Martha Wood Burt Library Fund Oliver L. Briggs Christmas Fund	Oliver L. Briggs Library Fund Oliver L. Briggs fund for Cemetery Lot	Laura Kennedy fund for Cemetery Lot J. E. Buffum fund for Cemetery Lot	Manly P. Horton fund for Cemetery Lot	Sabrina B. Aldrich fund for Cemetery Lot	Agnes B. Fierce fund for Cemetery Lot Eli C. Wellington fund for Cemetery Lot	Joshua Hall fund for Cemetery Lot Adelia M. Barrows fund for Cemetery Lot	Adine C. Buffum fund for Cemetery Lot	Jasper Hall fund for Cemetery Lot	Charles Hager fund for Cemetery Lot Fannie E. Cole fund for Cemetery Lot	Isa M. Capron fund for Cemetery Lot	Caroll F. Capron fund for Cemetery Lot Mary Callahan fund for Cemetery Lot	Edgar F. Dean fund for Cemetery Lot
Date of Creation	1816 1817 1829 1800	1904	1908	1914	1916	1917	1918	1919	1923	1925	1925	1925	1929	1929	1930	1932	1932	1932

2.47	2.57	2.07	13 54	5.00	3.53	3.01	20.00	10.21	1.32	.92	4.42	1.65	2.97	66.	13.89	0.07	1.01	2.29	6.45		1.64	17.86	2001	.42	.42	11.33	3.39	3.43	6.17	28.8	1 29	1.29	5.05	1.62	77	.50	\$819.36
3.00	3.50	3.50	7.00	4.00	3.50	6.00	7.00	5.00	3.50	1.50	3.00	3.50	3.50	3.00	7.00	0.00	3.50	3.00	4.50	16.39	2.00	3.75	3.27	3.00	3.00	2.00	4.50	3.00	6.50	3 00	3.00	3.00		3.00	08.8	00.0	\$838.15
3.27	3.27	3.27	6 55	4.45	3.27	6.55	6.55	6.55	3.27	1.62	3.27	3.27	3.27	3.27	6.55	2.77	3.27	3.27	4.91	16.39	1.63	70.6	3.27	3.27	3.27	1.63	3.27	3.02	6.55	2.27	3.27	3.27	5.05	3.27	70.49	.50	\$926.60
4,,	: :		3.3	**	•	:	2.2		12	. 44		•			: :	:	. 66		• •	2 2			3.3	2 2		3.3	6.6	. :			6.0	**	2 :				
2.20	2.80	00.7	13.99	4.55	3.76	2.46	20.45	99.6	1.55	08°	4.15	1.88	3.20	14,27	14.54	77	1.56	2.02	6.02	7	1.01	18.34		.15	CI. C	11.70	4.62	5.41	6.12	1.02	1.02	1.02	1	1.35	1 00	T*00	\$730.91
100.00	100.00	7 601 66	200.00	136.18	100.00	200.00	200.00	200.00	100.00	50.00	100.00	100,00	100.00	100.00	100.00	100.00	100.00	100.00	150.00	500.00	100.00	100.00	100.00	100.00	100.00	50.00	100.00	100.00	200.00	100.00	100.00	100.00	*154.91	100.00	100.00	100.00	\$30,857.84
		33 33	33 33	Walpole Savings Bank	23	2.5	Keene Savings Bank	Walpole Savings Bank	Keene Savings Bank	2	33 33	23 23	Walpole Savings Bank		Neene Savings Bank	33 33		Walpole Savings Bank		Keene Savings Bank	Wajpole Savings Bank	5.5	Keene Savings Bank	Walpole Savings Bank		3.3	8.8		Keene Savings Bank			33 33		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	wajpole savings bank	Keene Co Op. Bank	
Nellie C. Holman fund for Cemetery Lot	Cornella D. Leach fund for Cemetery Lot	William S. Starkev, Gift for Needy	Ralph E. Proctor fund for Cemetery Lot	Mary E. Sargent fund for Cemetery Lot	Charles H. Park fund for Cemetery Lot	John R. & Perry W. Burt fund for Cemetery Lot	Ella E. Abbott fund for Cemetery Lot	Frank E. Aldrich fund for Cemetery Lot	Forrest W. Hall fund for Cemetery Lot	Frank P. Hall fund for Cemetery Lot	Flora J. Burt fund for Cemetery Lot	Gaius K. Hall fund for Cemetery Lot	William A. Graves fund for Cemetery Lot	Educated Consistent of Constant Lot	Emma I Atherton find for Cemetery Lot	Lessie M. B. Joslin fund for Cemetery Lot	Miles I. Bingham fund for Cemetery Lot	Vinie Cobleigh Simmons fund for Cemetery Lot	Zenas E. Britton fund for Cemetery Lot	Victor M. Hall fund for Union Church	Walter Dunhar fund for Cemetery Lot	Sarah M. K. Hall fund for Cemetery Lot	Sarah M. K. Hall fund for Union Church	James & Sarah J. Keith fund for Cemetery Lot	James W. & Abigail M. B. Keith cemetery lot Kenneth F. Bundy find for Cemetery Lot	Prentiss Daggett fund for Cemetery Lot	Walter Hutchins fund for Cemetery Lot	Vivian's Memorial Fund for Cemetery Lot	Castillo Fund for Cemetery Lot	Walter Daggett find for Cemetery Lot	George Daggett fund for Cemetery Lot	Heber B. Cole fund for Cemetery Lot	James K., Snelling fund for Cemetery Lot	Perez White fund for Cemetery Lot	William E. & Lanta Brown for Compters Lot		Grand Totals
34			_		_		937	938	_					_		_	-	_	945	1946	040			949	949	949	950	954	955	956	956	956	956	957	057	958	

REPORT OF THE BRIGGS FUND COMMITTEE

RECEIPTS	
Balance forward from 1957	\$38.54
Interest on Briggs Fund	32.76
Gift from Men's Club	10.00
Gift from Ladies Aid	. 10.00
Gift from Great Meadow Grange	5.00
Donation in memory of Mrs. Lena Aldrich	
by Mr. and Mrs. Ralph White	10.00
Donation in memory of Mr. Richard Greene	
by Mildred and Dorothy Greene	5.00
Donation by Mrs. Helen Newell	5.00
Total Receipts	\$116.30
EXPENDITURES Cifts for 188 School shildren	\$60.40
Gifts for 128 School children	
Miscellaneous expenses	8.11
Total expenses	68.51
Cash balance on hand	47.79
	\$116.30

The Briggs Committee is indeed grateful for the cooperation and assistance of many. The Sewing Club took over the responsibility for all the pre-school gifts; about 100. Mr. and Mrs. Cameron Paine provided their famous honey pop-corn balls to replace the usual candy bags. This was a more unusual and wholesome treat and saved some \$30.00 in expense. Capt. and Mrs. Farrar furnished us with a well trimmed Christmas tree. We have on hand a balance to purchase gifts for another year at advantageous times. We thank you all.

Respectfully submitted,

LUCY L. THOMPSON HELEN F. COUSENS, Treas.

Audited and approved, January 12, 1959

THEODORA A. GEROULD EDNA M. PAINE

Auditors

REPORT OF THE WESTMORELAND LIBRARY TREASURER 1958

RECEIPTS	
Balance on Jan. 1, 1958	\$104.46
Interest from Burt Fund	16.37
Interest from Briggs Fund	65.53
Interest from Jotham Lord Fund	65.53
Town Appropriation	300.00
Received from Memorial Books	64.12
Total receipts	\$616.01
EXPENSES	
The Book Cellar, Brattleboro — books	\$199.19
Subscription Vermont Life — 3 yrs.	5.00
Dorothy Rhodes services as Librarian	80.00
Grace Comerford services as Librarian	26.00
J. R. Freddette services as Janitor	26.50
Palmer Insurance Agency	10.52
Public Service Co. of N. H.	20.00
Perley Safford, 2 tanks gas and tubing	30.45
Raymond French, wood	11.00
Robert Blood, wood	11.00
Stephen Provencher, care of grounds	10.50
Francis Blood, repairs on roof	5.00
Cellophane book covers	11.76
2 checking account books	2.00
Supplies	2.55
Henry Neughebauer, Inc., repairs	3.40
Total expenses	\$454.87
Balance Keene Nat'l Bank, Jan. 1, 1959	161.14
	\$616.01

After several years of most faithful and capable service, Mrs. Dorothy Rhodes has resigned as librarian. She has been replaced by Mrs. Grace Comerford with her daughter Susan as assistant. The Trustees experimented with a gas heating unit for our Library building, but finding that only an expensive unit could furnish adequate heat, abandoned the idea. There has been a great deal of interest created through the "Coffee Hour With Books" group in our Memorial Book-shelf. Very generous contributions of books have been made in memory of old friends of the town. It has been a very helpful and pleasant gesture.

LIBRARIAN'S REPORT

Balance from last year	\$1.22	
Dues collected since Jan. 4, 1958	2.86	
		\$4.08
EXPENDITU:	RES	
Order books	\$1.98	
Postage	.96	
Pen	.29	
		\$3.23
Balance	entermontal	\$.85
Number of patrons	277	
Number of books issued	4,222	,
Number of books discarded	25	
Number of books in library	6,778	

GRACE F. COMERFORD Librarian

AUDITOR'S REPORT

This is to certify that we have examined and audited the accounts of the Selectmen, Town Treasurer, Town Clerk, Tax Collector, Trustees of Trust Funds, Briggs Christmas Fund report, Library Treasurer, and Road Agents for the current year and find them correct and properly vouched.

THEODORA A. GEROULD EDNA M. PAINE

Auditors

TREASURER'S REPORT OF WESTMORELAND VILLAGE DISTRICT

1958

RECEIPTS	
Loan (David G. Clapp, Commissioner)	\$5.00
Note #89217 (Cheshire National Bank)	3,000.00
Marjorie Hudson, Treas., Town of Westmoreland	,
(1958 Property Tax)	496.28
	\$3,501.28
DISBURSEMENTS	
Cheshire National Bank (check book—25 checks)	2.50
Marjorie Hudson, Treas., Town of Westmoreland	
(1/4 cost of 1958 Mack fire apparatus)	2,973.00
Cheshire National Bank	
(6 mos. int. on Note #89217)	45.00
David G. Clapp, commissioner	
(payment of loan)	5.00
•	\$3,025.50
Balance in treasury January 1, 1959	475.78
	\$3,501.28

LOIS M. DELANO, Treasurer

This is to certify that I have examined and audited the account of the treasurer of the Westmoreland Village District for the current year and found it correct and properly vouched.

THEODORA A. GEROULD, Auditor

January 21, 1958

THE STATE OF NEW HAMPSHIRE

DISTRICT WARRANT

To the inhabitants of the Westmoreland Village District of the Town of Westmoreland, in the county of Cheshire in said state, qualified to vote in district affairs:

You are hereby notified to meet at the Town Hall, in said district, on the 12th day of March, at eight o'clock in the evening, to act on the following subjects:

- 1. To choose a moderator for the ensuing year.
- 2. To choose a clerk for the ensuing year.
- 3. To choose a commissioner for the ensuing three years.
 - 4. To choose a treasurer for the ensuing year.
 - 5. To choose an auditor for the ensuing year.
- 6. To see if the district will vote to accept the budget as submitted by the budget committee, under the authority of the municipal budget act.
- 7. To see if the district will vote to authorize the commissioners to borrow money in anticipation of taxes.
- 8. To transact any other business that may legally come before this meeting.

Given under our hand and seal this nineteenth day of January, in the year of our Lord nineteen hundred and fiftynine.

EDWARD COMERFORD GERTRUDE N. MAKINEN DAVID G. CLAPP

Commissioners

A true copy of Warrant—Attest:

EDWARD COMERFORD GERTRUDE N. MAKINEN DAVID G. CLAPP

Commissioners

BUDGET OF WESTMORELAND VILLAGE DISTRICT

ESTIMATES OF REVENUE AND EXPENDITURES FOR THE ENSUING YEAR COMPARED WITH

JAN. 1, 1959 TO DEC 31, 1959 COMPARED WITH ESTIMATED AND ACTUAL REVENUE. APPROPRIATIONS AND EXPENDITURES OF THE PREVIOUS YEAR

JAN. 1, 1958 TO DEC. 31, 1958

SOURCES OF REVENUE

	Actual Revenue	Estimated Revenue
	Previous	Ensuing
Note No. 89217	Year 1958 3,000.00	Year 1959
Loan from D. Clapp	5.00	
Amount to be raised by		
precinct taxes	\$496.27	\$700.00
Total revenues	\$3, 501.28	

PURPOSE	OF EXPENDI	TURES	
	Appropriations Previous Year 1958	Actual Expenditures Previous Year 1958	Appropriations Recommended by Budget Committee 1959
New Construction and		1 ear 1938	Committee 1939
equipment	\$3,000.00	\$2,973.00	
Principal of debt	600.00		600.00
Interest	120.00	45.00	100.00
Loan from D. Clapp		5.00	
Service charge (bank)		2.50	
Legal expense	50.00		
Total	\$3,770.00		
Total appropriations or expenditures Amount to be raised by		\$3,025.50	\$700.00

W. VAN WARREN JOHN F. WATKINS DAVID G. CLAPP LEWIS H. COUSENS ALONZO F. HUDSON CARL E. MESSER **Budget Committee**

\$700.00

precinct taxes

SCHOOL DISTRICT OFFICERS

SCHOOL BOARD

Mrs. Ruth D. Hatt, Chairman
Carl Messer
Robert W. Moore, Jr.

MODERATOR

John H. Terry, Jr.

CLERK
Dorothy Rhodes

TREASURER
Marjorie Hudson

AUDITOR
Charles Adams

SUPERINTENDENT Elliott W. Keach

THE STATE OF NEW HAMPSHIRE

SCHOOL WARRANT

To the inhabitants of the school district of the Town of Westmoreland qualified to vote in district affairs:

You are hereby notified to meet at the Town Hall, in said district, on the 14th day of March, 1959, at 2:00 o'clock in the afternoon to act upon the following subjects:

- 1. To choose a moderator for the ensuing year.
- 2. To choose a clerk for the ensuing year.
- 3. To choose a member of the school board for the ensuing three years.
 - 4. To choose a treasurer for the ensuing year.
- 5. To determine and appoint the salaries of the school board and truant officers, and pass any vote relating thereto.
- 6. To hear the reports of agents, auditors, committees or officers chosen, and pass any vote relating thereto.
- 7. To choose agents, auditors, and committees in relation to any subject embraced in this warrant.
- 8. To see if the district will vote to rescind the action to accept the minority report of the building committee voted at the August 2, 1958 Westmoreland School District Meeting.
- 9. To see if the district will vote to raise and appropriate a sum not to exceed \$82,600.00 for the purpose of erecting in that part of town known as the South Village additional elementary facilities either as an addition or as a new elementary school and furnish and equip the same, and the grading of the lot, and the acquisition of any real property that may be necessary for its location; to use part of the sum raised and appropriated to accomplish altera-

tions and improvements in the present village elementary school; to accept and use such funds of the district as are now available; and gifts which may be received to reduce the amount of the appropriation; and whether the district will vote to raise such sum through the issuance of serial notes or bonds upon the credit of the district for all or any portion of the sum so raised and appropriated; and to authorize the school board to determine the terms and conditions upon which the notes or bonds shall be issued including their sale and the time and place of payment of principal and interest, in accordance with the provisions of the Municipal Finance Act, N. H. Revised Statutes Annotated, Chapter 33, and any amendments thereto.

- 10. To see if the district will vote to authorize the school board to execute any and all contracts or agreements necessary, proper and advisable in connection with the construction of additional elementary facilities either as an addition or as a new elementary school and for the purchase and furnishings for same or to take any action thereon.
- 11. To see what sum the district will vote to authorize the school board to transfer to the capital reserve fund from the unencumbered surplus funds remaining on hand at the end of the school year 1958-1959.
- 12. To see what sum of money the district will vote to raise and appropriate for the support of schools, for the salaries of school district officers and agents, and for the payment of statutory obligations of the district, and to authorize the application against said appropriation of such sums as are estimated to be received from the state equalization fund together with other income; the school board to certify to the selectmen the balance between the estimated revenue and the appropriation, which balance is to be raised by taxes by the town.
- 13. To see if the district will vote to authorize the school board to make application for and to accept, on behalf of the district, any or all grants or other funds for educational purposes which may now or hereafter be forth-

coming from the United States Government or from the State of New Hampshire.

- 14. To see if the district will vote to authorize the school board to negotiate a tuition contract with the Keene School District.
- 15. To see if the district will vote to authorize the school board to negotiate a tuition contract with the Walpole School District.
- 16. To transact any other business that may legally come before this meeting.

SCHOOL MEETING

March 8, 1958

The meeting was called to order by the moderator, John Terry, who read the school warrant. The articles were then acted upon.

- Article 1. John Terry was elected moderator for the ensuing year, with the clerk casting one ballot.
- Article 2. Dorothy Rhodes was elected clerk for the ensuing year, with the moderator casting one ballot.
- Article 3. Ruth Hatt was elected school board member for the ensuing three years, with the clerk casting one ballot.
- Article 4. Marjorie Hudson was elected treasurer for the ensuing year, with the clerk casting one ballot.
- Article 5. Robert Moore, Jr. made the motion, which was seconded and voted, that we take up Article 5 with
- Article 10 or Article 11. Thomas Barrett made the motion that we take up Article 16 at this time.
- Article 16. Mrs. Kirk Aldrich made the motion, which was seconded and voted, that the school district adopt the non-partisan Australian ballot system as a method of voting for the election of school district officers. Motion carried.
- Article 6. Marjorie Hudson gave a report on the Hot Lunch program for this year, which was accepted and placed on file.
- Article 7. Charles Adams was elected auditor for the ensuing year, with the clerk casting one ballot.
- Article 8. Ruth Churchill made the motion, which was seconded and voted, that the district vote to raise and appropriate the sum of \$70,000.00 for the purpose of erecting in that part of town known as South Village an elemen-

tary school and furnish and equip the same, and the grading of the lot and the acquisition of any real property that may be necessary for its location; to accept and use such funds of the district as are now available and gifts which may be received to reduce the amount of the appropriation; and that the district vote to raise such sums through the issuance of serial notes or bonds upon the credit of the district for all or any portion of the sum so raised and appropriated; and to authorize the school board to determine the terms and conditions upon which the notes or bonds shall be issued including their sale and the time and place of payment of principal and interest, in accordance with the provision of the Municipal Finance Act, N. H. Revised Statutes Annotated, Chapter 33, and any amendments thereto.

Before voting by ballot, the following ballot clerks were named: Walter Dunn, Mary Fredette, John Watkins, and Hugh Shelley.

By a ballot vote there were 89 yes, 76 no, and 1 blank ballot. Not having the necessary two thirds vote, the motion was not carried.

Article 9. Carl Messer made the motion, which was seconded and voted, to take no action under this article.

Article 11 and Article 5. Carl Messer made the motion which was seconded and voted, that the district vote to raise and appropriate the sum of \$58,235.50 for the support of schools (using the proposed Budget B figures) for the salaries of school district officials and agents, and for the payment of statutory obligations of the district, and to authorize the application against said appropriation of such sums as are estimated to be received from the State equalization fund together with other income; the school board to certify to the selectmen the balance between the estimated revenue and the appropriation, which balance is to be raised by taxes by the town.

Article 12. Cameron Paine made the motion which was seconded and voted, that the district vote to authorize the school board to make application for and to receive and use in the name of the district, such advances, grants in aid or other funds for educational purposes as may now or

hereafter be forthcoming from the United States government or any department or agency thereof, or from any state or private agency.

Article 13. Thomas Barrett made the motion which was seconded and voted, that the district vote to authorize the School Board to negotiate a tuition contract with the Keene School District.

Article 14. The motion was made, seconded and voted, that the district vote to authorize the School Board to negotiate a tuition contract with the Walpole School District.

Article 15. Carl Barrett made the motion, which was seconded and voted that the school district adopt as its check-list, the Town check-list, as provided in RSA 197: 12a, as inserted by Laws of 1957, Chapter 57; this provision to be effective for the 1959 and subsequent annual district meetings.

Article 17. Lucy Paine made the motion which was seconded and voted, that a committee be appointed to study the school plant needs for Westmoreland and recommend action.

40—no 21—yes. Motion not carried.

Carl Messer made the motion that the old committee, appointed two years ago, continue to work with the school board. This was amended by Carl Barrett, to add three new members.

The motion made, seconded and voted was that the old committee, appointed two years ago, continue to work with the school board and to add three additional members, the committee to be appointed by the moderator. Motion carried.

Meeting adjourned.

The clerk, moderator, treasurer, and school board member were then sworn in.

DOROTHY R. RHODES, Clerk of School District The special school district meeting was called to order at 2:10 P.M. by moderator, John H. Terry, Jr., who read the warrant.

As the clerk, Mrs. Dorothy Rhodes was absent, the moderator called for nominations for a clerk Pro Tem. Mrs. Ruth D. Hatt nominated Fenn B. Newell. Mr. Cameron Paine seconded the nomination, and moved that the nominations be closed, and the moderator instructed to cast one ballot for Fenn B. Newell to act as clerk Pro Tem. The motion was carried, the ballot cast and Fenn B. Newell was sworn in by the moderator as clerk Pro Tem.

Captain M. T. Farrar moved that Article 2 in the warrant be taken up first, and spoke at some length as to his reasons for his motion. The motion was seconded, and by a show of hands vote was carried by 17 to 16.

Under Article 2 — Captain Farrar discussed and explained in great detail the newest plans and specifications of the building committee for additional classrooms and facilities to the Westmoreland Village School. Miss Gerould moved that it is the opinion of this meeting that we do add adequate additional facilities to the Westmoreland Village School. Seconded by Mrs. Allan Thorne. Carl Barrett moved to amend Miss Gerould's motion to add the words "for the 6 elementary grades" after the word school. This motion to amend was seconded by Mrs. Provencher. A ballot vote was called for and taken on Mr. Barrett's motion to amend. There were 75 ballots cast, 19 favorable and 56 unfavorable. Hence the amendment was defeated. Therefore the original motion was carried.

Article 1 was then taken up. It was moved, seconded and carried by voice vote that no action be taken on this article.

Article 3. Mr. L. H. Russell, Sr., moved that the school board be instructed to petition the Superior Court, as soon as practicable, to authorize a special school district meeting for the purpose of voting to build and finance adequate educational facilities to the Westmoreland Village School. John Watkins moved to limit the cost of the additions to \$55,000.00. Seconded by L. H. Russell, Sr.

Miss Gerould then moved to amend the amendment to limit the cost to \$60,000.00 including the Capital Reserve Fund. Miss Gerould's amendment was seconded by Mrs. Thorne and adopted by a show of hands vote, 26 to 24.

Mr. Russell's amended motion was then adopted by a voice vote.

Article 4. Charles Adams moved that the school board be urged to get permission from the selectmen to use the Town Hall for the 6th and 7th grades for the school year 1958-1959, or until additional facilities are completed. Mr. William Van Warren pointed out that the furnaces in the Town Hall were in such poor condition that it would be unsafe to use them continuously, as it would be necessary if the Hall was used for school purposes.

By a voice vote Mr. Adams motion was lost. The meeting was adjourned at 5:10 P.M.

FENN B. NEWELL, Clerk Pro Tem

August 2, 1958

The meeting of the Westmoreland School District was held at the Town Hall on Saturday afternoon, August 2, at 2 P.M.

The meeting was called to order by the moderator, John Terry, who then read the warrant, the petition to the Superior Court, the permission from the court, and the recommendation of the Budget Committee.

The minutes of the previous meeting was read by the clerk.

The moderator explained if anyone objected to his decisions they could appeal, if it was seconded it could then be voted on.

A report of the majority committee was given by Charles Adams, which is favored by the building committee 5 to 1.

Captain Farrar then gave the minority report. A discussion of both plans followed.

Charles Adams made the motion, which was seconded, that the majority report be accepted. Captain Farrar made

the motion that this be amended to the minority report, or Reid plan. This was seconded. The amendment was voted on by ballot.

Yes—65 No—58 Motion carried.

The moderator then put the main motion as amended. Lucy Paine objected to the ruling of the moderator. This was seconded. Hugh Shelley made the motion that the moderator's ruling be upheld. This was also seconded. By a show of hands, Yes—68 No—39. Motion carried.

The moderator again put the main motion as amended. By a ballot vote, Yes—69 No—56. Motion carried.

Ballot clerks appointed to assist in counting the ballots were Thornton Paine, Helen Cousens and Lois Leach.

Frances Aldrich made the motion, which was seconded. that the district vote to raise and appropriate a sum not to exceed \$60,000.00 for the purpose of erecting in that part of town known as South Village additional elementary facilities either as an addition to the present elementary school or as a new elementary school attached or connected to the present elementary building and furnish and equip the same, and the grading of the lot and the acquisition of any real property that may be necessary for its location: to use part of the sum raised and appropriated to accomplish alterations and improvements in the present Village Elementary School: to accept and use such funds of the district as are available, and gifts which may be received to reduce the amount of the appropriation and whether the district will vote to raise such sums through the issuance of serial notes or bonds upon the credit of the district for all or any portion of the sum so raised and appropriated; and to authorize the school board to determine the terms and conditions on which the notes or bonds shall be issued including their sale and the time and place of payment of principal and interest, in accordance with the provisions of the Municipal Finance Act, N. H. Revised Statutes Annotated. Chapter 33.

Charles Adams made the amendment that the contracts for construction be let by competitive bidding. This was seconded.

Yes—90 No—30. Amendment carried.

Thomas Barrett made the amendment that we use Captain Farrar's and Reid's plan, and no other. This was seconded. By a show of hands Yes—23 No—majority. Amendment lost.

The original motion was then voted on.

Yes—75 No—49. (Needed to carry, 82). Motion lost.

Cameron Paine made the motion that this meeting go on record as favoring the continued use of the East Westmoreland School, until such time as the voters of East Westmoreland, by their majority vote, indicate that they would like the school closed; and that the school board be so instructed. Richard Delano made the motion that this be amended to "the whole town." By a voice vote this was carried.

The motion as amended was voted on. Yes—34 No—38. Motion lost.

Charles Adams made the motion that the present building committee be dissolved with thanks, and that the moderator appoint a new six person committee to report at the regular school meeting in March on a proposal for additional school facilities. Lucy Paine objected to the committee being appointed by the moderator and made the amendment that the committee be appointed from the floor. The amendment was lost by a voice vote. On the original motion, by a voice vote, the ayes had it. Motion carried.

The motion was made and seconded that we adjourn.

DOROTHY R. RHODES, Clerk School District

REPORT OF SCHOOL BOARD

For the Year Ending June 30, 1958

RECEIPTS

Local taxation		\$36,274.17
State Aid		6,480.49
National School Lunch		206.72
Tuition (Keene 7th & 8th Grades)		323.50
Tuition (State wards)		1,440.41
Trust Funds interest		120.02
Sale of old desks		11.00
Sale of Depot School		3,100.00
Unexpended Per Capita Tax		32.29
Return insurance premium on Depot Sch	100l	50.71
Dividend on expired policy (Corner Scho	ool)	7.56
Reimbursement on telephone calls		1.00
Total receipts from all sources		\$48,047.87
Cash on hand July 1, 1957		5,525.29
	•	
		\$53,573.16
PAYMENTS		\$53,573.16
PAYMENTS Administration:		\$53,573.16
		\$53,573.16
Administration:	\$58 .6 5	\$53,573.16
Administration: Salary of District Officers:	\$58. 6 5 48.87	\$53,573. 16
Administration: Salary of District Officers: Ruth Hatt (School Board)		\$53,573. 16
Administration: Salary of District Officers: Ruth Hatt (School Board) Carl Messer (School Board) Robert Moore, Jr. (School Board) Marjorie Hudson (Treas.)	48.87	\$53,573. 16
Administration: Salary of District Officers: Ruth Hatt (School Board) Carl Messer (School Board) Robert Moore, Jr. (School Board)	48.87 48.87	\$53,573. 16
Administration: Salary of District Officers: Ruth Hatt (School Board) Carl Messer (School Board) Robert Moore, Jr. (School Board) Marjorie Hudson (Treas.) Dorothy Rhodes (Clerk) John Terry, Jr. (Moderator)	48.87 48.87 48.87	\$53,573. 16
Administration: Salary of District Officers: Ruth Hatt (School Board) Carl Messer (School Board) Robert Moore, Jr. (School Board) Marjorie Hudson (Treas.) Dorothy Rhodes (Clerk) John Terry, Jr. (Moderator) Treasurer—State of N. H.	48.87 48.87 48.87 15.00	\$53,573. 16
Administration: Salary of District Officers: Ruth Hatt (School Board) Carl Messer (School Board) Robert Moore, Jr. (School Board) Marjorie Hudson (Treas.) Dorothy Rhodes (Clerk) John Terry, Jr. (Moderator)	48.87 48.87 48.87 15.00	\$53,573. 16
Administration: Salary of District Officers: Ruth Hatt (School Board) Carl Messer (School Board) Robert Moore, Jr. (School Board) Marjorie Hudson (Treas.) Dorothy Rhodes (Clerk) John Terry, Jr. (Moderator) Treasurer—State of N. H. (social security)	48.87 48.87 48.87 15.00 10.50	\$235.50
Administration: Salary of District Officers: Ruth Hatt (School Board) Carl Messer (School Board) Robert Moore, Jr. (School Board) Marjorie Hudson (Treas.) Dorothy Rhodes (Clerk) John Terry, Jr. (Moderator) Treasurer—State of N. H. (social security) Superintendent's salary (local share)	48.87 48.87 48.87 15.00 10.50	\$235.50 441.60
Administration: Salary of District Officers: Ruth Hatt (School Board) Carl Messer (School Board) Robert Moore, Jr. (School Board) Marjorie Hudson (Treas.) Dorothy Rhodes (Clerk) John Terry, Jr. (Moderator) Treasurer—State of N. H. (social security)	48.87 48.87 48.87 15.00 10.50	\$235.50

Superintendent's secretary

(local share) Thelma Messer (census)	201.60 20.00	
Themia Messer (census)	20.00	\$221.60
Supplies and Expenses:		Ψ221.00
Union Treas. (Supt's travel-union)	\$115.20	
Union Treas. (Supt's travel-non-union		
Union Treas. (office supplies & expens	*	
Union Treas. (workshop)	12.00	
Union Treas. (local share tel. tolls)	76.03	
N. H. School Board Ass'n (dues)	10.00	
N. H. Dep't of Public Welfare	1.00	
Arthur Croft Publications	10.00	
Keene Publishing Corp.	18.00	
Nat'l School Public Relations	6.00	
N. E. Tel. & Tel. Co.	184.08	
Homer Bradley	79.85	
Ruth Hatt (tel. tolls)	55.55	
Chase's	14.72	
Blodgett Studios	2.25	
Comstock, the printer	4.32	
Marjorie Hudson (town report)	15.00	
E. W. Keach	11.90	
		\$683.10
Instruction:		
Teachers' salaries:		
Dorothy Wilson (net salary)	\$2,727.50	
Dorothy Dunn (net salary)	2,433.62	
Theresa J. Taylor (net salary)	2,556.40	
Juliana Hooper (net salary)	2,537.20	
Helen Adams (substitute)	12.00	
Marion Andros (substitute)	9.77	
Jane Harris (substitute)	19.55	
Josephine Woodward (substitute)	54.73	
N. H. Teachers' retirement system	502.70	
Director of Internal Revenue	1,790.90	
Mutual Benefit Health & Accident Ass		
Treas. — State of N. H.	272.38	
		\$12,953.75
Books and other instructional aid	ds:	
The John C. Winston Co.	\$9.07	
Gledhill Bros.	3.25	
The MacMillan Co.	40.84	

American Book Co.	47.60	
Charles Merrill Books	24.24	
Scott Foresman & Co.	142.02	
Silver Burdett Co.	97.00	
J. L. Hammett Co.	2.67	
J. B. Lippincott Co.	3.76	
Houghton Mifflin Co.	17.27	
Milton Bradley Co.	2.00	
Ginn & Co.	15.68	
Benefic Press	2.72	
Beckley-Cardy Co.	5.16	
Row Peterson & Co.	1.50	
now i etcison & co.	1.00	\$414.78
· Scholars' Supplies:		φ111.10
Scott Foresman & Co.	\$61.25	
The Ruwe Pencil Co.	19.24	
J. L. Hammett Co.	12.14	
American Book Co.	16.21	
Follett Publishing Co.	3.27	
Charles E. Merrill Books	1.50	
World Book Co.	3.17	
Milton Bradley Co.	18.30	
Walpole School District	6.18	
American Education Publications	61.00	
Chase's	2.38	
Gledhill Bros.	273.13	
California Test Bureau	31.64	
McCormick Mathers Publishing Co.	16.52	
Continental Press, Inc.	6.78	
		\$532.71
Supplies and Other Expenses:		
F. A. Owen Publishing Co.	\$2.28	
Walpole School District	10.67	
Ginn & Co.	5.40	
Helen Terry	400.00	
		\$418.35
Operation of School Plant:		
Salaries of Custodians:	¢469.90	
J. R. Fredette	\$463.32 270.21	
Davis S. Riley	270.21	
Treas. — State of N. H.	17.71	P751 94
		\$751.24

Fuel or Heat:		
Cheshire Oil Co.	\$565.43	
Perley Safford	15.00	\$580.43
Water, Lights, Supplies and Ex	penses:	φουν.10
Public Service Co.	\$386.85	
Central Paper Products Co.	44.72	
Pioneer Manufacturing Co.	20.95	
Walpole School District	11.48	
Knowlton & Stone	6.55	
South Village Store	4.37	
E. W. Keach	.50	
		\$475.42
Maintenance of School Plant:		
Repairs and Replacements:		
R. L. Galloway	\$44.63	
J. R. Fredette	60.00	
Cheshire Oil Co.	28.35	
Henry Neugebauer Inc.	38.23	
Charles Messer	3.25	
Walter Dunn	39.73	
Linn J. Starkey, Jr.	79.42	
South Village Store	17.46	
Spencer Hardware Co.	7.11	
A. H. Rice Co.	8.46	
N. H. Fire & Safety Equipment	4.00	
Herman's Door Equipment	5.81	
Davis S. Riley	42.46	
Oscar Ekberg	8.00	
Director of Internal Revenue	.90	
		\$387.81
Auxiliary Activities:		
Health Supervision:		
Union Treas. (Nurse's salary)	\$340.80	
Union Treas. (Nurse's travel)	67.20	
Union Treas. (Nurse's supplies)	15.94	
Dr. William Tatem	4.00	407.04
	\$	427.94
Transportation:	F 400 00	
Rafael Carbonell	7,100.00	
Vera McClenning	670.20	ФП ППО OO
		\$7,770.20

Tuition — High: Walpole School District Keene School District	\$6 ,868.99 4,863.75	
Tuition — Elementary: Walpole School District Keene School District	\$5,710.34 1,202.18	
Special Activities & Funds: Westmoreland School Lunch Program Federal Reimbursement (school lunch		, ,
Fixed Charges: Retirement:		φυσο.υσ
Union Treas. (Sup't & Nurse) N. H. Teachers Retirement System Treas. — State of N.H.	\$55.68 651.47 217.08	¢ 00 <i>1</i> 00
Insurance: Clark Insurance Agency	\$83.10	\$924.23
Palmer Insurance Agency D. W. Harris Agency	82.67 2.14	01.07.01
Capital Outlay: Land and New Buildings:		\$167.91
Verna L. Woodward D. Reed Chaplin Homer S. Bradley	200.00 12.00 76.00	
New Equipment: Gledhill Brothers	\$503.03	\$288.00
Chase's Barrett Typewriter Co.	37.76 150.00	
Paris Manufacturing Co. Payment into Capital Reserve Fund:	52.00	\$742.79
Treas. — Trustee of Trust Funds		\$3,100.00
Total payments for all purposes Cash on hand, June 30, 1958	***	\$51,093.00 2,480.16
		\$53,573.16

BALANCE SHEET

A	Q	Q	۵	ta	
47	10	O	v	CO	ю

Cash on hand June 30, 1958 Capital Reserves	\$2,480.16 4,600.00
Total Assets Liabilities:	\$7,080.16
Capital Reserves Renovation Corner School	\$4, 6 00.00 500.00
Total Liabilities Surplus	\$5,100.00 1,980.16
Grand Total	\$7,080.16

BUDGET OF THE SCHOOL DISTRICT OF WESTMORELAND, N. H., 1959-60

Administration: Salaries of district officers Supt.'s salary (local share) Tax for state wide supervision Salaries of other administrative personnel Supplies and expenses Instruction: Elementary teachers' and principals' salaries Books and other instruction aids, elementary Supplies and other expenses, elementary Operation of School Plant: Salaries of custodians, elementary Water, light, supplies and expenses, elementary Maintenance of School Plant: Repairs and replacements, elementary Auxiliary Activities: Health supervision, elementary Transportation, elementary Tuition, ligh Tuition, elementary Special activities and special funds, elementary Special activities and special milk, elementary	\$235.50 \$235.50 \$32.00 \$32.00 \$32.00 \$32.00 \$32.00 \$32.01 \$414.78 \$414	\$223.50 \$40pfted \$223.50 \$40pfted \$600.00 \$7,275.00 \$600.00 \$7,424.00 \$15.00 \$100.00 \$	\$\text{ctraft} \text{Constraint} Constrain	\$223.50 4224.00 \$424.00 \$424.00 \$424.00 \$450.00 \$150.0	\$\text{\frac{2.22}{4.000000000000000000000000000000000000
Fixed Charges are special mine, concensory Fixed Charges as Estimated and social security, elementary Insurance, treas, bonds and expenses, elementary	924.23 109.64	1,365.00	399.22 129.21	1,171.00 611.00	
Total Current Expenses Total Current Expenses (brought forward) Capital Outlay: Lands and new buildings, elementary	\$46,579.44 \$ \$46,579.44 \$	\$57,585.50 \$57,585.50 500.00	\$16,331.76 \$16,331.76 600.00	\$57,894.50 \$57,894.50 82,900.00	\$57,894.50 \$57,894.50 82,900.00

cions and improvements, elementary equipment, elementary ents into Capital Reserve Fund	731.79	100.00	601.00	100.00	100.00
otal Capital Outlay Debt and Interest:	4,119.79	650.00	1,241.20	83,100.00	83,100.00
incipal of debt terest on debt				4,000.00 2,400.00	4,000.00 4,000.00 2,400.00 2,400.00
Fotal expenditures or sch. approp.	\$50,699.23	\$58,235.50	\$17,572.96	558,235.50 \$17,572.96 \$147,394.50 \$147,394.50	\$147,394.50

RECEIPTS ITEM	1 Actual Receipts 82-7291	2 Adopted Budget 1958-59	Actual Receipts July 1 to Dec. 31, 1958	/ School Board' Budget 1959-60	S Budget Committee's Budget 1959-60
*Balance (actual or estimated) State Aid Federal aid Trust funds	\$5,525.29 6,480.49 206.72	\$800.00 8,000.00 500.00 92.15	\$2,480.16 5,612.69 35.22	\$7,600.00 11,780.00 500.00	\$7,600.00 11,780.00 500.00
High school tuition Elementary school tuition Other	84.71 1,355.70 3,132.29		637.00	82,600.00	82,6
Tot. rec'ts, other than prop. taxes Dist. assessment raised or to be raised by property taxes	\$16,905.22	\$9,392.15	\$8,765.07	\$8,765.07 \$102,572.15 \$102,572.15 \$10.500.00 \$44.822.35 \$44.822.35	\$102,572.15 \$44.822.35
Total approp. voted by sch. dist. Special appropriations to be financed by bond issues, Serial notes or capital reserve funds for elementary school	\$53,179.39 al notes or ca	\$58,235.50 apital reserv	\$58,235.50 \$19,265.07 pital reserve funds	\$147,394.50	147,394.50 \$147,394.50 \$82,600.00 \$82,600.00

DAVID G, CLAPP W. VAN WARREN JOHN WATKINS CARL E. MESSER LEWIS H. COUSENS ALONZO F. HUDSON Budget Committee

REPORT OF SCHOOL DISTRICT TREASURER

For year ending June 30, 1958

Cash on hand July 1, 1957		\$5,525.29
Received from Selectmen:		
Current Appropriation	\$36,274.17	
Received from State Treasurer:		
State funds	6,480.49	
Federal funds	206.72	
Received from tuitions	1,796.41	
Received as income from Trust Funds	120.02	
Received from all other sources	3,250.84	
Total receipts -		\$48,128.65
Total amount available for fiscal year	-	\$53,653.94
Less School Board Orders Paid		51,173.78
Balance on hand June 30, 1958		\$2,480.16

MARJORIE A. HUDSON,
District Treasurer

AUDITOR'S CERTIFICATE

This is to certify that we have examined the books, vouchers, bank statements and other financial records of the treasurer of the school district of Westmoreland of which the above is a true summary for the fiscal year ending June 30, 1958 and find them correct in all respects.

CHARLES R. ADAMS,

REPORT OF THE SCHOOL NURSE

The following is my report for the year ending June 30, 1958.

- 107 pupils had vision tests given by the school nurse.
 - 3 pupils received vision notices.
 - 71 pupils had hearing tests given by the school nurse.
- 107 pupils were weighed and measured by the school nurse.
- 107 pupils were inspected by the school nurse.
 - 48 pupils were found in need of dental care.
 - 86 pupils attended polio clinics.
 - 1 pupil attended Crippled Children's Clinic.
 - 11 pupils attended pre-registration clinic.
 - 19 pupils were checked for smallpox vaccination and necessary follow-up done.

Dental health education—direct classroom teaching—October and January.

The aims of the school nurse are numerous, to list a few:

To instruct children and young people so that they may conserve and improve their own health, and thus be more able to secure that abundant vigor and vitality which are a foundation for the greatest possible happiness and service in personal, family, and community life.

To promote satisfactory understandings, attitudes, and ways of behaving among parents and other adults so that they may maintain and improve the health of the home and community.

To improve the individual and community life of the future; to work toward a better second generation, and a still better third generation; to build a healthier and fitter nation and world.

I do wish to thank all who helped make my year a successful one.

Respectfully submitted,

MRS. ELLEN PEARCE, R. N.

REPORT OF THE SUPERINTENDENT OF SCHOOLS

To the School Board and Citizens of Westmoreland:

I herewith submit my annual report as your Superintendent of Schools:

Survival and success in the years ahead will be influenced to a large extent by the choices we make in regard to what we as a people consider to be valuable. The support given to the educational program in a community is a reflection of the value placed on education by its people.

Young people soon discover what their elders really value.

More than financial support of the school program is needed. There is a need for cooperative effort of parents, citizens and teachers to promote a climate in all phases of a youngster's life that will encourage and demand the best that he or she is capable of doing. The help and influence of parents is needed to aggressively support the school's efforts to promote excellence of performance.

The committees that were working on the Oral Language Arts Syllabus as a follow-up of the 1957 Workshop completed their outlines; syllabi were adopted and placed in use this year for grades one through twelve.

The Language Arts Workshop held this year placed emphasis on the written program. Miss Helen O'Leary, Associate Professor of Education at the University of Massachusetts was the keynote speaker and principal consultant. Other consultants contributing to the success of the Workshop were Miss Marie Capron, Supervisor of Student Teaching at Keene Teachers College; Miss Amy Mayo, Educational Consultant for the American Book Company and Mr. Normand Pacquette, Head of the English Department at Stevens High School, Claremont, N. H.

Committees are working to complete a Written Language Arts Syllabus for grades one through twelve and it

is hoped that it will be completed by the end of the school year.

Mathematics and science teachers conducted a threeday workshop at the same time the Language Arts Workshop was in progress. This group studied mathematics teaching methods and procedures and are currently working on a mathematics syllabus for grades seven and eight.

Mrs. Betty Lou Bell replaced Mrs. Juliana Hooper as first grade teacher in East Westmoreland. Mrs. Bell received her degree from Keene Teachers College and did her practice teaching in Concord, N. H. Mrs. Elizabeth Chickering replaced Mrs. Bell at the end of the mid-term in January, 1959. Mrs. Chickering received her degree from Keene Teachers College and taught in Walpole, N. H. last year.

At every school district meeting both annual and special it has been evident that there is general agreement that improvement in school facilities is necessary. The principal disagreements are about the number of rooms, type of construction, location and an addition versus a new building. Discussion and thorough study before taking action is prudent procedure, however, continued disagreement merely means a continuance of the present situation which means spending money on buildings that are no longer giving the service that should be given and not giving Westmoreland children the start in life that they should have.

The estimate of \$8,000.00 for state foundation aid made for the proposed 1958-1959 budget was an optimistic estimate that did not take into account that the average daily membership of foster children is not allowed in computing state aid. Westmoreland received \$5,612.69 which was \$2,387.31 less than anticipated, however, the anticipated end-of-year balance was \$1,180.16 more which partially offset the lesser amount of state aid.

	ENRO	LLME	INT	JANU	ARY	5,	1959		
Grade	1		2	3	4		5	6	Total
	22	2 1	17	14	17		13	22	105
	Enrollmen	t of Tu	aitio	n Pupils	, Jai	nuar	y 5, 1	1959	
Grade		7	8	Total	9	10	11	12	Total
Keene		1	2	3	7	4	3	3	17
Walpole		12	9	21	9	1	. 2	4	. 16

I would like to take this opportunity to thank the School Board, parents, pupils and citizens for their cooperation.

ELLIOTT W. KEACH, Superintendent of Schools

SCHOOL LUNCH PROGRAM

December 2, 1957 to June 14, 1958

Receipts		
District appropriation		\$400.00
Federal reimbursement		198.38
Lunch sales:		
Children	\$892.38	
Adults	72.10	
Miscellaneous	3.35	
		\$967.83
Milk sales (April 1 - June 14):		
Children	\$71. 52	
Adults	4.04	
Miscellaneous	.96	
		\$76.52
Total receipts	_	\$1,642.73
Balance on hand July 1, 1957		2.95
	-	\$1,645.68
Expenditures		
Food	\$823.36	
Labor	645.00	
Equipment	15. 00	
Other	44.41	
Milk (April 1 - June 14)	112.12	
Total expenditures		\$1,639.89
Balance on hand June 30, 1958		5.79
		\$1,645.68
Total lunches served at full price		3,244
Total lunches served free		330
Tatol lunches served reduced rate		422

VITAL STATISTICS

BIRTHS

Date 1957	Place	Baby's Name	Father's Name	Mother's
Dec. 8 1958	Townshend Vt.	Steven Norman	Joseph B. Morrill	Maiden Name Janice M. Pike
1978 Jan. 16 Feb. 22 Mar. 5 Apr. 14 Apr. 28 May 12 June 23 July 9 July 20 July 20 Aug. 11 Aug. 30 Sept. 23 Sept. 24 Dec. 11	Bellows Falls, Vt. Keene, N. H. Brattleboro, Vt. Bellows Falls, Vt. Westmoreland	James Wesley Peter Charles	Arthur J. Mansur Linn J. Starkey, Jr. Hollis S. Blood James R. Porter Paul R. Hatt Olin E. Reed Donald E. Hall Ronald P. Rogers Fenn B. Newell, Jr. George O. Harmon Lionel G. Perham John P. Foster Waldeman P. Sherwin, Jr Alan W. Thompson Kenneth Bonnette	Helen M. Gagner Marcia F. Perham Ella M. Hastings Patricia A. Staples Ruth Dalzell Jean B. Washburn Joanne Gilman Betty L. Brown Mildred F. Grant Athlena G. Leet Eleanor M. Pike Ruth J. Merrill Nancy J. Haskins Joyce B. Tutts Elaine C. Turner
		MARR	IAGES	
Date	Place	Na	me	Residence
Feb. 22	Keene	Elizat	r H. Chickering beth A. Whitehouse	Westmoreland Keene, N. H.
June 27	Winchester	Rene Norm	J. Baron a R. Donaldson	Winchester Westmoreland
June 28	E. Westmorel	and Norm Audre	ey R. Kirker	E. Westmoreland Keene
July 4	Keene Alstead	Mary	E. Moore	E. Gardner, Mass. Westmoreland E. Westmoreland
July 13 Aug. 7	E. Westmorel	Ruth Henry	P. Renz	Keene Westmoreland
Oct. 4	Marlboro	Rose Roger	A. Wilson S. Adams	Westmoreland Westmoreland
Dec. 12	Keene	Eleano Richa Patric	J. Baron a R. Donaldson an R. Winchester cy R. Kirker P. Matthews E. Moore L. Winchester P. Renz r L. Kingsbury A. Wilson S. Adams or M. Richardson rd H. Goodnow ia C. Kennedy	Marlboro Westmoreland W. Swanzey
		DEA	THS	
Date	Pla	ice of Birth	Name	Age 66
Jan. 18, May 29,	1958 Bel 1958 We	lows Falls, Vt.	Louise C. Lathrop George A. Capron Charles H. Aldrich	66
Sept. 8, Sept. 9, Sept. 12,	1958 Bel 1958 We 1958 Gr 1958 Kee 1958 We 1958 Bos	afton, Vt. ene, N. H. alpole, N. H. ston, Mass.	Charles H. Aldrich George Morton	82 36
Nov. 8,	1958 Bos	ston, Mass.	George Morton Carl V. Long Nellie G. Hoyt	47 85
	BROUG	знт то то	WN FOR BURIAL	
Date Apr. 7,	1050	Name	1	Age
May 1, June 1,	1958 1958 1958	Name Fannie C. A Florence E. Harry Harty	Witham	Age 82 77 68
Aug. 12,	1958	Angus H. M	acDonald	87
	DEAT	HS AT THE	COUNTY FARM	
Date	Pla	ce of Birth	_ Name	Age
	1958 Him 1958 Che	sdale, N. H.	Fred Walker Willie J. Fitch Albertain R. Winha Raymond J. Richard	Age 81 89
June 20, Aug. 1,	1958 Kee	ne, N. H.	Raymond J. Richard	m 76 Ison 53 71
Aug. 21, Nov. 19,	1958 Cne 1958 Ma 1958 Kee 1958 Als 1958 Kee 1958 We	ssdale, N. H. ssham, N. H. rlow, N. H. ne, N. H. tead, N. H. ne, N. H. st Rutland, Vt.	Leslie Clough Catherine Driscoll Mary C. Britton	71 74 83
,	-	stational, Tt.	mary C, Difficult	0)





